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Topic:- Grad_Nutrition and Health

1) Aims of the National Nutrition policy is:/ JgIa Wwur Hifq &1 @87 5:
1. To reduce the burden of malnutrition in the country/ <o o W‘EFUTW Eﬁ'sEr‘EIE'FlT

2. To highlight the need for intersectoral coordination to achieve nutritional goals/

YU & ) gTRId B & for fafirsr &= & St IH-ay o TaRgehdl UR UHT STEHT
3. Both of the above/ RERCSRAR]]
4. None of the above/ IWRIad & ¥ BIs ol

Correct Answer :-

. Both of the above/ SR Gl

2) Infant mortality refers to the number of deaths below years of
age per 1000 live births./ asTd 9§ &% Ufd 1000 Shifaa =9 o | $Y9 g
& Rgell #t gog w=I F FEd §:

1.1year/ 1 a9
2.2 year/ 2 G
3.3 year/BEl'le

4. 4 year/4 GL

Correct Answer :-

e 1 year/ 199

3) An example of incomplete protein is:/ 3rq;0fuﬁ'a=r P TP IS8Tl 8:
1. Zein/ oI
2. Egg/3fSl



3. Milk/g¥
4. Fish/Agalt

Correct Answer :-

. Zein/fNET

4) What is the recommended dietary allowance for iron for girls between 10-
15 years of age as per ICMR 2010?/ ICMR 2010 & 39X 10-15 T9 I 3Tg arcit

arferereil & foe maR Ft rq=ifira emerta ergHfy 82
1. 27 mg/day/27 fan/fea
2. 20 mg/day/20 fr/fea
3. 33 mg/day/33 ftrm/fea
4. 35 mg/day/35 /e

Correct Answer :-

. 27 mg/day/27 fEn/fea

5) A vaccine can be:/ & g T&ar gl
1. An antigenic protein/ TUeNH® Ui

2. Weakened pathogen/ &lor &=1 faar man RUSEED

3. Live attenuated pathogen/ Sifad, &ﬁUﬂW REUSEED
4. All of the above/ Iudad et

Correct Answer :-

« All of the above/ Iuad i

6) Vitamins A, D, E, and K are:/fd@f¥q A, D, E 3R K g
1. Fat soluble vitamins/ 39T ¥ go-=ilet faeTfae

2. Water soluble vitamins/ S ¥ gom=itd faer®=

3. Insoluble vitamins/ Wﬁ?ﬂﬁ?

4. None of the above/ SIRIad & ¥ &5 Tl

Correct Answer :-

« Fat soluble vitamins/ a1 ¥ gaH=id faerfe



7) In general, nutritional deficits in the breastfeeding mother:/ &HUTH B LE|
ATaT ¥ T =i S g | IrTaa: | gidr 82

1. Reduce the quantity of her milk/ D §%['c|ﬁ A U¢ STl 8
2. Reduce all nutrients equally/ 94 UV& d@ SRISR ET § ¢ 910 ©

3. Stop lactation entirely/ GrEE Y3 RE ¥ SIdT §
4. None of the above/%‘—lff I aﬂs‘ gl

Correct Answer :-

« Reduce the quantity of her milk/ I Q%[Ebgf A U¢ STt 8

8) The term for a fertilised egg from conception until the end of two months
development-/ a9 & d@x ql A1g B AW qF, fFfua svs iR o1 w1 o1
STt 32

1. Ova/ 3(US DI
2. Foetus/ My fRIg
3. Zygote/ JHAY

4. Embryo/¥Ul

Correct Answer :-

« Embryo/Y{Ur

9) The foetus is especially subject to the teratogenic effects of some

chemicals during which period of time?/ fo TuaTafy & ﬂmmﬁw
& foeue yuTal & faRiy &9 9 srefi= giar 372

1. First trimester/ Uga faHTS!
2. Fertilisation/ o=

3. Second trimester/ gﬂil f?I'HTEﬂ
4. Third trimester/ IR RBGEIR

Correct Answer :-

« First trimester/ Ugal faATRT

10) Which of the following water-soluble vitamins does not pose a
particularly high risk of toxicity?/ 398 ¥ ®19 Sa ga-=ita faerf¥= faureaar &1
faRiy &9 I = fed Sad 6 wvar g2

1. Vitamin B6/ fae1fi= B6



2. Thiamine/ Yrafa=
3. Vitamin C/ delfiq C
4. Niacin/ o=

Correct Answer :-

« Thiamine/ A=

11) Fetus receives Nutrition through:/ My R3] &1 dryor & 1w 9
frerar g1

1. Antibodies/ TUCtsial

2. Meconium/ SITAfasT (AbIfaH)

3. Placenta/ O] (@@?‘[)

4. Amniotic fluid/3ed IR (YPifes wigs)

Correct Answer :-

« Placenta/ THATE (@deT)

12) The dietary recommendations for retinol for a expectant mother as per

ICMR 2010 is-/ ICMR 2010 & 3G9 THadt Tt gq ¥feqara @t smerta srgafd &-
1. 800 micrograms/day/800 s o/ faA
2. 650 micrograms/day/ 650 ATSHHHE/ &
3. 550 micrograms/day/ 550 ATSH I/ faq
4. 700 micrograms/day/700 ATZH A/ e

Correct Answer :-

« 800 micrograms/day/800 Argshumd/feA

13) A visual food guide which enables an individual to understand the
recommendations for dietary guidelines and put them into practice is: /T®

TXATHS QT AnieRieT &t safed ot ey foum fd= @t sraziamstt & awsm i 5=
agR # @4 # g9y F9rdt @

1. Food guide pyramid/ @] AnfefRieT fxifirs
2. Energy pyramid/ Sl RIS

3. Protein pyramid/ udH fRifrs

4. None of the above/ SIRIad H ¥ HIg el



Correct Answer :-

« Food guide pyramid/ 9] e fiRifrs

14) Which of the following types of beriberi are correct except?/ 34 4 fpa
Breax =g Y, -39 F 7 voR 72

1. Dry beriberi/ &b SRR
2. Cardiac beriberi-Wet beriberi/ E@W - Fig SRR
3. Infantile beriberi/ TS sRIaR!

4. Geriatric beriberi/ 3 aa’t

Correct Answer :-

- Geriatric beriberi/ & sRisRl

15) 10gm of iodized salt provides mg of iodine:/ 10 UTH &I@Eﬁﬁ-gﬁ
TF form smadt= farerdt 2:

1. 150

2.100

3.120

4. 80

Correct Answer :-

« 150

16) Insulin deficiency causes:/ '&"Rﬂﬁﬁ 31 S A T a1 82
1. Diabetes insipidus/ SAfacis sHufUey

2. Goitre/ B3|

3. Diabetes mellitus/ Srfeds Afeleg

4. All of the above/ Iudad it

Correct Answer :-

. Diabetes mellitus/ Srafacisl Afered

17) What are the important tasks, which the community health centers

undertakes?/ ATHSIU® WA $5l gRT fHT I ard Tga@yul &1 F41 §2
1. Disposing off the sewage/ HdSId &1 AU



2. Germ free drinking water/ Ik 1] Had U
3. Immunization and health education/ UfaRel®Hur Td W@y e
4. All of the above/ B“q?i?ﬁ gt

Correct Answer :-

« All of the above/ Iudad Tt

18) Vaccines make the body?/ 39 TR A FT HaAd &2

1. Produce antibodies/UUctals IdT BT

2. Produce more red blood cells/ 3R 3if¥/® dId Iad HIRBTT IAT BT

3. Produce dead bacteria/ gd ST 3dd HAT
4. None of these/ s:l'ff q ?ﬁé :160[

Correct Answer :-

« Produce antibodies/TUcIaIst I BT

19) Expected weight gain during third trimester of pregnancy is-/ THa®IT &}

Tt fawmd) & dRra srifa wR gfS @ -

1. One pound a week/ T U3 Ufd IiTe

2. Two pound a week/ & UI3s Ufd 98
3. 10 pounds in month/ TF AT # 10 UES
4. None of the above/ B'Q“g‘[?ﬁ =i Elﬂ's‘ﬂ%?

Correct Answer :-

« One pound a week/ T&% T3S Ufd 9«8

20) The RDA for calcium for growing boys between 10 to 17 years of age as
per ICMR 2010:/ ICMR 2010 & 3J9R 10 ¥ 17 a9 & Fgd JTa®! & fore »feraw
RDA &:

1. 500 mg / day/500 f&m/fad
2. 600 mg / day/600 f&rm/feq
3. 800 mg / day/800 f&rm/fea
4.900 mg / day/900 f&rm/fe

Correct Answer :-



- 800 mg / day/800 foerT/fe

21) Most vaccines are-/ 3ffU&daz IR -

1. Taken by mouth/ 9 gRT NS g

2. Injected in body by Injection/ $9/aRM §RT YRR & UIIT HIT 91d §
3. Inhaled/ g &R fau 9rd €

4. Taken with food/ WIS & 1Y 1%11;1 STd %

Correct Answer :-

. Injected in body by Injection/ $o/aR gRT TRR H UfAY BT O1d §

22) Pradhan Mantri Gramodaya Yojana focuses on creation of social and

economic infrastructure which include:/ U= Al THIGT ST JTHTG 3R
3R gfard e & fFmfor w »f=a 8 o wfire &

1. Rural roads/ JTHI01 48
2. Safe and potable drinking water/ gRfa&rd Td U9 a1vg S/@

3. Better housing/ YR AN
4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Iudad Tt

23) The food pyramid for Indians as per NIN 2010 suggests / shows foods to
be-/NIN 2010 & 3R HRAI 7q @1 fiRTfirs @re uerd ggmar/gwifar 2

1. "Eat Adequately"/ "OIT HET | W 9 ara”

2. "Eat moderately"/"Tafid A1 H# QT S 91"

3. "Eat sparingly"/"Sgd 8! & A1 H 9T S ara”
4. All of the above/3dad Tt

Correct Answer :-

« All of the above/3Iudad Tt

24) A flu vaccination must be given to a person every year because:/ afeaal

P T AR &R avf Frar! afee Faife-
1. The virus can change from one year to the next/ ﬁ'ﬁle{[ ¥-cz-aY Seardr IgdT §



2. It is too strong to stay in your body forever/ dg ERRIRUESEUN Gl % f amud IR A
Had & forg =8 I8 apdl

3. The vaccine dies after a certain period of time/ & JHY diq GEAiE) ad g ot 8
4. None of these/3TH ¥ @5 gl

Correct Answer :-

« The virus can change from one year to the next/ ﬁw JY-ER-aY dgadl Xgdl §
25) Consequences of the PEM are mostly:/ PEM & gwfvony 3ifteizm: 8-
1. Irreversible growth retardation/ 3 chauiY gfg Ta

2. Increased risk of mortality/ FRURNT & Sif¥ed H gig

3. Low cognitive performance/ % J3HI&® UexH

4. All of the above/3dad It

Correct Answer :-

« All of the above/T{q?jGﬁ gt

26) The Annapurna scheme aims at providing food security to meet the
requirement of group:/ 3AYUIT TISHT & GYE Bl ATaRAHATS] Bt
gfd & fore @mer JR&m ueH A W afdd 8:

1. Pregnant mothers/ THad Ararsft
2. Adolescent girls/ foRnfRai

3. Old age/ W’ﬁ
4. Critically ill patients/ STS[® gTdd daTal JARAT

Correct Answer :-

. Old age/ ggorH!

27) Immune disorders include:/ D'I%R&IT faeRY A wrﬁm%
1. Hypersensitivity/ 3ffd SdaT=iadr (BAWR JRifefaet)

2. Auto immune disease/ WUfaReft (3fict ) T

3. Immunodeficiency/ WTaR&T <Al

4. All of the above/ I0dad T+t

Correct Answer :-



« All of the above/ I0ad i

28) High density lipoprotein (HDL) is also known as:/ 3« 94 GIELIEIGE]
(HDL) & 1t wga

1. Bad cholesterol/ gﬂﬁﬁ@ﬁa

2. Poor cholesterol/ Hel AN
3. Good cholesterol/ 38T BRIl
4. All of the above/ B“CRiTﬁ ot

Correct Answer :-

« Good cholesterol/ 3BT DI

29) No one is immune to AIDS-/ ®13 ft tgH & fav uferfém 8 81
1. True/ Gg!

2. False/ TTdd

3. Cannot say/ g 78| §obd

4. None of the above/ SWRI&d & ¥ BIs ol

Correct Answer :-

« True/ Tal

30) Nutritional status is assessed by use of-/ U9l fRIFT HT 3Ha &
IR gIRT fabar wirar @

1. Anthropometric measurements/ -'ﬂﬁ'cﬁﬂ HIYA
2. Assessment guide/ b BRI R

3. Living conditions/ Staq fufaar

4. None of the above/G'CIﬁEH 7Y Tﬁ'sc T8l

Correct Answer :-

« Anthropometric measurements/ ﬁ’&l’cﬂﬂﬂm

31) In India, severe acute malnutrition occurs in young children (6 months to

5 years) and is the major cause of:/HRRd # B¢ g1 (6 HTE ¥ 5 a¥f) A TR deur
SUINT giaT € SR T8 BT U SR 3

1. Mortality/ RUTRfed



2. Food poisoning/ |1 fauTedn
3. Anaemia/ IddTeddl
4. Iodine deficiency/3MaIS &1 HH!

Correct Answer :-

« Mortality/ RO

32) They do not supply energy but play a role in regulation and utilisation of

macronutrients-/ 3 &4l &t arrql%f?aw%, WWWH@ ¥ o ik IwahT A
yftrer fruTd &-

1. Fats/ 99U

2. Carbohydrates/ ®TagI3SC
3. Proteins/ Ul

4. Vitamins and minerals/ faeTfim ok farRa

Correct Answer :-

« Vitamins and minerals/ faeTfF iR firRa

33) All stages of rash are seen in:/ @RI FIM WU § 3@ &t fied 1
1. Chickenpox/ BIMEEET (ﬁlﬁﬁﬂﬂ)

2. Measles/ @I

3. Typhoid/Wﬁ%‘s’

4. Smallpox/ EECT (mﬁ’au"m)

Correct Answer :-

« Chickenpox/ EIGEEET (ﬁlﬁﬁ&ﬂ)

34) As per the dietary guidelines for Indians one should-/ YRRd4l gd MRRIY
formm fd=i & SR =afad &

1. Eat variety of foods from all food groups to ensure a balanced diet/?i?ji?ﬁ 3TgR
AT F & fow Gt T agg! § fafis @ uerdf &1 499 &A1 91

2. Discourage breastfeeding/ XU &1 gdlcilied BT 6T

3. Encourage overeating/ AR dl ¥ 3ftidh @M I FIdT o1 ey

4. Promote high use of fats as a source of high energy /3™ Sl & Fid & =g & garaf
& I IUIANT B! 9¢IdT &1 AT



Correct Answer :-

« Eat variety of foods from all food groups to ensure a balanced diet/“&i’g’i%'lﬁ 3R
AT HA & fow gt W aggt § fafts @ uerdf &1 999 &A1 91t

35) The placenta is metabolically active and matures throughout

pregnancy:/ﬂmﬂqﬂfﬂﬂ-ﬁﬂw%aﬂ?wﬁﬁﬁﬂﬁw@?ﬂ%ﬁw
gl STl 81 39 g H PI-91 HYF I 82

1. It synthesizes several amino acids and hormones/ g P HHI Al 3R grAMY BT
AT HRcl B

2. It transfers oxygen and nutrients from mother to the foetus/ T8 3RS 3R TYH
ot &Y AT @ miw R a% ugardt 8

3. Both of the above/ SWRIad !

4. It is not a part of special life support systems for the foetus/ g ﬂ@f?l‘{[% IGEW]
S 3merst =it &7 YT Tt &

Correct Answer :-

o Both of the above/B‘CI'ﬁ?:R-r Al

36) Consequences of iron deficiency include:/ 3R &I HHI & gufRomdl &
RUIE

1. Negative effects on energy metabolism/ Sl IAIEY TR TSRS GHTT

2. Reduced work performance and productivity/ &1 UeRF iR IdTeHar § HH!
3. Increased risk in pregnancy/ TfaRT # SieT | "q'@
4. All of the above /39dad Tt

Correct Answer :-

« All of the above /30ad i

37) Which of the following is true of chickenpox?/Jd® & ¥ # g9 | P Hgl
a2

1. Virus is not found in scab/ Tust & ﬁw Tt fired §
2. Caused by RNA virus/ RNA faum § gt 8
3. Does not cross the placental barrier/ THATNT 14T UR &1 B et ©

4. Virus can be grown on the chick embryo/H‘ﬁ% Hul uﬂﬁw Ta¢= foar ST gar §

Correct Answer :-



« Virus is not found in scab/ Uﬂ@[ﬁﬁ'&ﬂﬁﬁlﬁ?f%

38) Recommended dietary allowance (RDA) can be used at various levels as
a basis by policy makers as well as industry as-/ =ifd fFmtarsif ek I gy
faftra W=l W srgRifTa smerty Srgufd (RDA) &t TR & ¥U & YA faar o1 It 3
Fife-

1. It provides guidelines to understand the essential nutritional requirements for
energy and other nutrients as per physical activity, physiological status, age and

sex/dg IR Afehadr, IRR fharets R, 3mg, Td e & AR SHoll T 3 v dadl
B TS G0 Jral MaRgharsii o) IAag & forg fazm fAdw yem &t 8

2. It helps in knowing an individual and his behaviour/ Y Hfad 3R IYP AR &I

W # Hag et §

3. It provides recommendations for undernourished, obese or sick people/ dg Wﬁﬂ,

TICTURR g1 TR ART & o SRS Uee
4. All of the above/ B'Cl'éfﬁm-ﬁ

Correct Answer :-

« It provides guidelines to understand the essential nutritional requirements for
energy and other nutrients as per physical activity, physiological status, age and

sex/dg YIRS Afehadr, IRR fharats R, 3myg, Td it & AR SHoll Td 3 Uive dadl
DI TS NV Jrael} STIFH 3N &1 THgH & o fezn A uem &t 8

39) For prevention of osteoporosis and fractures vitamin D nutrition is as

important as that of-/ &I'@-lﬁﬁﬂ?ﬂ (m) 3T H@Wﬁﬁﬁﬂﬂ%ﬁlﬁ
faerfiqa p vtwor Ia- & Heayui g _orar __ iy

1. Vitamin A/ faeifi= A
2. Vitamin E/ faerf®= E
3. Vitamin K/ faerfa= K
4. Calcium/ Sfcrrm

Correct Answer :-

« Calcium/ sk

40) Foods used to enhance the nutrients present in a person's diet or menu
is known as-/3fad & 3TER AT JAt A IURRIT WP Tl Pt ATAT TgM & ¢ Tgad

1. Supplementation/ A{JYxUI
2. Complement/ Y&



3. Subtraction/ Id&h A
4. None of the above/IWRIad & ¥ BT Tal

Correct Answer :-

« Supplementation/ JqRU

41) Iodine deficiency in adults could result in:/ IO%H] # ATASIT B HHI
I Y Ghdl &

1. Goiter with it’s complications/ BT 3R IT&! Sfeadn

2. Coronary artery disease/ g&d 4HAT & T
3. Dyslipedemia/ f&afafuSiftmn
4. Megaloblastic anemia/ATASTRe® THITHAT

Correct Answer :-

. Goiter with it's complications/ 8T 3{R IT&! Sfeadn

42) Which condition can result if the calories particularly very low in the
pregnancy, the result is poor energy supply for the fetal brain, possibly

leading to decreased brain development:/af¢ THiaRIT # faRiv =0 § Had &t
HTAT 9gd HH gl a1 S-81 AT Iaua 3 It 8 e ufvomaeasy b Ry &
AT & Ful $t My ge wrdt 8 ik o afkrss &1 fawra &0 -1 gria 8:

1. Apoptosis/ @@ﬁm

2. Diverticulosis/ fagfear (mﬁﬁﬁm)
3. Ketosis/ HICIRY

4. All of the above/3Iudad Tt

Correct Answer :-

. Ketosis/ ®icifg

43) Which one of the following diseases is not caused by bacteria?/ ?Flﬁ I

SY-97 7 Saroeit grRT 98 g 22
1. Tuberculosis/ &3 I (TR AIAH)
2. Cholera/ %Trﬂ

3. Tetanus/ feeT
4. Influenza/ SOIUSI

Correct Answer :-



« Influenza/ SURIUSIT

44) All are true about measles except:/ T F G ° sqﬁ T fpa @W Ay
Tt ¥ 32

1. Incubation period of 10 to 14 days/10 ¥ 14 f&Af &I JAThga 3@fy
2. More severe in malnourished/ Wﬁ?ﬁﬁ 3feep TR
3. Subclinical infection/ T&UTRIH HHHUI

4. Secondary attack rate is 30%/fgdld® 3THHU &R 30%

Correct Answer :-
« Secondary attack rate is 30%/fedtad 3ThHI &R 30%

45) When a pregnant woman has prenatal tests performed, the doctors are
not looking for which potential problem?/ Sid mfadt afgen Wﬁ-‘l‘q’ TI&0T HRardt
? a9 fufv~rs fea gnnfaa gun &t ger § =381 ga 32

1. Mumps,/ HUARNY/ TGS (HH)

2. Down syndrome/ SI3-d ﬁl@'ﬁ

3. Sickle cell anaemia/ Rifdre O THifea
4. Spina bifida/<TT d1gfthal

Correct Answer :-

« Mumps/ SR/ TGS (HH)

46) The primary and most efficient Pro-Vitamin A or carotenoid is the:/ &1

3R ITH g&f M-Il A a1 FAeHTEs @
1. Alpha - carotene/ W-ﬁ‘c’ﬁ
2. Beta - carotene/ SicI-HRIcH

3. Gamma - carotene/ MHT-HRAC A

4, Cryptoxanthin/ oA

Correct Answer :-

. Beta - carotene/ dlT-HRACH

47) The recommended dietary allowance for folate for a pregnant woman as

per ICI\%/IR 2010-/ ICMR 2010 & 3JaR THadl & g Bide &1 Rifa SR
SrgAfd &-



1. 500 micrograms/day/500 H3H U/
2. 400 micrograms/day/ 400 ATSH I/ faq
3. 300 micrograms/day/300 ATS®h /e
4. 350 micrograms/day/350 ArghmH/feA

Correct Answer :-

« 500 micrograms/day/500 ATEHIITH/feA

48) Why are non-immunized school age children often protected from
vaccine-prevented diseases such as diphtheria, measeals, and polio?/

foameadt emg ard swferfea = wra: dRIF-FRIE A, S fswifyar, @ = s uifermat
3nfe & PRI i ¥ed 82

1. Because they are still protected by maternal antibodies/ it 39 gHT i It Ara
A e TudiaTet ST T8 B @ B ©

2. Because these diseases have been eradicated/ ®ifdb g9 I &I Hd ¥ foan o el
g

3. Because the majority of children are immunized against these disease(HERD

immunity)/ &P e o= 37 A7 & favg ufeRféd g € (HERD ufran)
4. Because such diseases exist only in under developed countries/ iifd T T Had
Correct Answer :-

« Because the majority of children are immunized against these disease(HERD

immunity)/ TP G o= 37 A7 & faog URRIEd 8 € (HERD ufRem)

49) Which of the following characterize prenatal development?/ 38 9 S
wq gd faer &1 srfiraeror 32

1. It is the shortest stage of the human life span/ dg HId SHa-BTd B T BicT aRT

g

2. It is a highly critical stage in human development/ dg HI1d [dHh™ &1 d98a ANh AR

3. It is the stage during which most development occurs at the most rapid rate/ dg dg

ey ¢ R SR 3Hfeepie faea gad o 7fd 4 giar @
4. All of the above/3udad I+

Correct Answer :-

« All of the above/t{q?jaﬁ ekt



50) Carriers are associated with transmission of disease in all except:/ ET-I'ﬁ I

5 Slse Aw Tt A & T F A1Y 6P TG 8
1. Cholera/ %Trﬂ

2. Typhoid/ TRIBIgS

3. Diphtheria/ fewiifan

4. Measles/Td]

Correct Answer :-

« Measles/3dx]

51) Which of the following disease is caused by protozoa?/ ERLE| HIF-9T T
WICIS 3 & HIRUT gaT 82

1. Malaria/ Hafam

2. Hepatitis/ %ﬁ?@%ﬂ
3. Typhoid/ TAGISS

4. Diphtheria/ fewiifean

Correct Answer :-

« Malaria/ Hafrar

52) After getting a vaccination-/ AR TEME F 1% -

1. The body never lets the same virus into it/ TR I fauTY] &1 Wad § Hofi-oft SaRT gaw
T B AT R

2. The body always becomes ill for a short time/ TR THIM Urs T THT & oW dHR &
ST ®

3. The body gets used to a weaker form of a virus/ TRR fANIY] & 3{UETHT HHSIR TU BT
309 B STl §

4. None of these/ 370 q &I Tal

Correct Answer :-

« The body gets used to a weaker form of a virus/ TRR fauIY] & 3U&THd HHSR FY &I
3N B I §

53) Anaemia in our country is essentially due to-/ R ¢ # JaaTeuar (THITAT)
qETa: & PRI 3

1. Calcium deficiency/ HfeREH Pt HH



2. Iodine deficiency/ 3TITSH &I HH
3. Iron deficiency/ 3TGR &1 HHI
4. Phosphorus deficiency/tl’TVITCﬁTH PI HHI

Correct Answer :-

« Iron deficiency/ 3RA &1 HHl

54) An important nutrition problem among preschool age children that leads
to various degrees of growth retardation is known as-/ qaﬁmmﬂ S LG R
B arelt T Hecayut trvor Jra=il guwn o fafis TR & gfS awe Saaa wdl 8-

1. Protein Energy Malnutrition/ T¢I 3ol HUISOT
2. Energy Malnutrition/ 3ol HUIUT
3. Protein Malnutrition/ UIcIH $UIyur

4. All of the above/ SWRiad H I d;lir:l'é:f

Correct Answer :-

o All of the above/ SWRiad H I d;lir:l'ef’f

55) How are diseases and illnesses often caused-/ I 3R SHRET Ura: foa
UPR 3Id 82

1. By vaccinations at a too early age/ §gd &1 BIc! 3 H dadii- avram™

2. By bacteria and viruses that attack our body/ TR TR TR THHT B aﬁGﬂaTqﬁﬁ
3R faumopeft &

3. By antibodies that get into our body/ A IR H Ya=I U1 S dTd] Tociaial 4
4. None of these/3TH ¥ ®Is g

Correct Answer :-

« By bacteria and viruses that attack our body/ THR TRR TR THHT HA aTdl \_rﬂEI'IT{IGﬁ
3R faumopsft §

Topic:- Grad_General Knowledge and Logical Ability

1) How many rectangles are there in the following figure?/ ﬁ'HGITE{?ﬁrﬁ' STIAd
o1 s fat g2

B —




1.7
2.6
3.8
4.9

Correct Answer :-
« 9

2) The salaries of A, B and C are in the ratio of 1:3:4 respectively. If their
salaries are increased by 5%, 10% and 15% respectively, then their
increased salaries will be in the ratio of:/ A, B @Yl C & dd- &I 3[JUTd HUT: 1:3:4
21 9f¢ 3 a9 T HU: 5%, 10% TUT 15% B gk B ST, a1 3% 9¢ g da &1
SPHT: JUTd SIT:

1. 20:66:95
2.21:66:95
3.21:66:92

4.19:66:92

Correct Answer :-
e« 21:66:92
3) Auto clipart is a feature that :/SIﬁ %&néwﬁﬁw %\‘rﬁ:

1. Automatically places clipart in your presentation / WA ¥U ¥ 3{Ud JoleeH
fTgsne g 8

2. Scans your presentation for incorrect spelling in Word Arts objects / CE) Grﬂ'c‘ﬁ
ffesiaey o Tad ad-t & foIg MU URdfd & Ih- &Rl §

3. Scans your presentation for incorrect spelling in your words on each slide/ S [oor: )

WES W Y el H TAd dd-l & 1T MU URdfd P Ih Bl §
4. All of above/3Iudad I+

Correct Answer :-

« All of above/3Iudad I+

4) A train X starts from a place at a speed of 50 km/hr. After one hour
another train Y starts from the same place at the speed 70 km/hr. After how
much time will Y cross X, after starting of X? / T&% YS! X TP ®ITH I 50 forHl/
e B T A T YR Bl 81 TP °e qI gusl Yemrel Y I I & 70 foredi/ae o wfa



T I UR™ Bl | IS X & UR™ g4 & fPa- G99 918 I Y, IS X Bl UR
HA?

1. 3 hour/ 3 He

3 3

2. 24 hour/ 2+ e
1 1
3.32 hour/ 329¢
1 1

4,24 hour/ 2¢ ©¢

Correct Answer :-

1 1

. 32 hour/ 32 Y

5) How many members are there in the State Commissions for Protection of
Child Rights? / a1 ATl & §X&A01 % 1T T sra i ® fohar 927 gid 82

1.4
2.5
3.6

4.7

Correct Answer :-

e 7

6) The selling price of 10 objects is equal to the cost price of 8 objects. Find
the loss or profit percentage. / 10 9% &7 fa%Ha Yeu 8 TR & HY Yod & TR ¢
ATY T g1 & % FTd DI

1. 28% profit/28% Y
2. 20% loss/20% BT+
3. 23% profit/23% Y

4. 31% loss/31% 8T+

Correct Answer :-

« 20% loss/20% BIH

7) Scurvy is a disease caused by deficiency of -/ frae! wHt | wedl T BT %

1. Virus/ ﬁ'qTfﬂ
2. Presence of Rh antigen in blood/ Rh oA &t Iufufa g o



3. Ascorbic acid or vitamin C /Wﬁ%ﬁ 3 1 fgerfiq ¢
4. Vitamin E / [de1f®9 E

Correct Answer :-

e Ascorbic acid or vitamin C /W% 3 1 fgerfiq ¢

8) DIRECTIONS: Which of the answer figures is exactly the mirror image of
the question figure, if a mirror is placed on the line MN?/ faden: A o @ o

IR SATpfa U= pfa &1 giur ufafaa gt af e gdor ¥ar MN W @ s

Question Figure /w1961 HIBla
M
N
Answer Figures / 30z HEE%QT

QA A

m @ ©® @

1.1
2.2
3.3

4.4

Correct Answer :-

9) Which of the following schemes was also launched along with the launch
of Swachh Bacche Swasth Bharat? / fA5 & & S99 T9AT F AT Ta=g g T 9ATLT T
EIERERIRIRIE Y

1. Kayakalp/ sramseq

2. Swachh Swasth Sarvatra / Fa=g ¥ 999

3. Swachhta Guidelines for Public Health Facilities / ATasia= TaTe=y glagrs % forw Ta=gar
fEertaaer

4. Swachh Bharat Abhiyaan / ¥=g wea 9=

Correct Answer :-

« Swachh Swasth Sarvatra / ¥==g @@= 995



10) To which of the following is the Hindu Succession Act, 1956 not
applicable? / fg=g sTafasr sfafaaw, 1956 A% # & fore safeaT a= ) grar &7

1. Sikhs / ST TS & STATAT

2. Scheduled Tribe / g AT
3. Buddhists / aT&t

4. All of the above / 3<% Tt

Correct Answer :-

+ Scheduled Tribe / sIgg~a ST

11) The average age of boys is twice the number of girls in a class. If the
ratio of boys and girls in a class of 36 is 5:1 respectively, what is the total
ages (in years) of the all-boys in class?/ t{$$&l‘[ﬁﬁ$ﬁ3§’f 3NTd Gﬂ'g?l@'%!ﬁiﬂ
BT & L 21 afe 36 BT 3t F& § ds! 3N ASTHUN B J=AT BT rJUTd HHI: 5:1 1,
o Fem F Tt dsH! B T 3y @ H) | 7?2

1. 490
2.196
3.420

4. 360

Correct Answer :-
« 360

12) IPV6 is in which format:/3msuidl 6 {9 u=u & @:

1. Hexadecimal format / 3T SHHd YRSy
2. Octal format / 3iided URsU
3. Numeric format/ <gAR® UReU

4. Alphanumeric format/ GFCFF@W URsY

Correct Answer :-

« Hexadecimal format / %OR-II SHud Uy

13) Which one of the following options is/are not true? / % & & FiwaT fAFeT gt
TEI 82
1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance

from a joint Hindu family/ f@=g Sa=1fersme srfafaaw, 1956 afet &1 uaF w3 fgrg aham &
FAA ST T ATEHRTT T TRl §




2. The Hindu Succession Amendment Act, 2005 gave daughters the right to
inheritance with her male siblings / &g STfa=TE Femred sfafaaw, 1956 & gT afeai &
SO ATSAT o AT FE=TEd &7 SAfera TaT AT T

3. The Supreme Court in 2010 ruled that daughters whose fathers died before
September 9, 2005 however won’t be applicable for the Amendment / 2010 & Thiw
FIE F T FATAT =0T 5 afet & foar &1 9o forawaw 9, 2005 F T@ g0 7, 98 39 Segd g1y Y&
TR T e o WIS A8l

4. None of these/z# & #g g

Correct Answer :-

« The Supreme Court in 2010 ruled that daughters whose fathers died before
September 9, 2005 however won't be applicable for the Amendment / 2010 & Tsf=
FIE A FATAT ahl o1 At  fOar &1 g7 Frawa 9, 2005 % Id g0 8, a8 =9 S9Te+ g1 Y&
TR T SrferRTe 3 YT A8l

14) Since which year did the recent Juvenile Justice (Care and Protection of
Children) Act come into force? / g FT fheNT =T (ATAh! T @G AT GL&qor) Fferf=ae
g a9 & 9T T TAT?

1. 2014
2. 2015
3. 2016

4, 2017

Correct Answer :-

« 2016

15) The number of embryonic membranes in human is-/HJ i Horg %T%Ifﬁ P F=T Eﬁ?ﬂ %—
1.2
2.3
3.4

4.0

Correct Answer :-

16) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / fodar: fRafafad uy ® usars e ) & R
R AU DI AT I T2

? = 43,985 + 10.98 x 9.032



1.0.5
2.10
3.36

4. 45

Correct Answer :-

17) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / o Frrafafea vy o yyares fre ?) CRIIE]
TR AT B AT /I T2

? = (19)2 x 18.5 + 22.48
1. 6500
2.6701
3. 6850
4.6725

Correct Answer :-

- 6701

18) Which of the following ministries launched the Vanbandhu Kalyan
Yojana? / 9 § ¥ F99 HATAT 7 aAawe] HATT JISTAT T TEA HAT?

1. Ministry of Tribal Affairs / ST &1 HaTAT

2. Ministry of Environment, Forest and Climate Change / T3Ta<, 3+ X STaa1g 9add
HATAT

3. Ministry of Social Justice and Empowerment / araTr == i< srfgrepiar gamaa

4. Ministry of Rural Development / T o w3

Correct Answer :-

« Ministry of Tribal Affairs / SHSITI I &1 HATAT

19) Swachh Swasth Sarvatra is an initiative of: / To=g Taey 937 7w & & et vgw
g7

1. Ministry of Drinking Water and Sanitation / T9sT SiiT Fa=gdT #3Tad

2. Ministry of Health and Family Welfare / T 3fi¥ 9ETE FedTor HATAH



3. Ministry of Drinking Water and Sanitation and Ministry of Health and Family Welfare
jointly / ToSTeT 3% Ta=gdT HATAT TS FATEST 3T TIRATE FeAT0 HATAL

4. None of these / 37/ & #IE &l

Correct Answer :-

« Ministry of Drinking Water and Sanitation and Ministry of Health and Family Welfare
jointly / ToSTeT 3% Ta=gdT HATAT UF FATES 30T TIATE FHeaT00 HATAT

20) Which of the following will come under ‘dowry’ under the Dowry
Prohibition Act, 1961? / =g« fAuy srfafaam, 1961 ¥ siavia A § & =T <9 & fer
STeT?

1. Property or valuable security given or agreed to be given either directly or

indirectly by the parents of the bride to the bridegroom / geg+ & aTar-foar g1 38 *
T sreger AT sTrcaet ®9 § AT ST ATt SFAT AT eaaTd T JRer a1 AT & &l TS(T gieT

2. Property or valuable security given or agreed to be given either directly or
indirectly by the parents of the bridegroom to the bride / 375 & ATaT-{UdT =T 3ogT &
T sregeq AT sTreaer T F 3T ST AT F9q=T A7 eaaTe T T &7 AT & &1 TSI gieT

3. Both of the above/3ur AT
4. None of these/za# & #IT &l

Correct Answer :-

« Both of the above/39ar=d Tl

21) How many components were there in the National Social Assistance
Programme when it was first introduced? / TET TS GgTEAT FTAFHA T T
EEUREREERE LR ERERY:

1.2
2.3
3.4

4.5

Correct Answer :-

22) Thesaurus tool is used for in MS Word. / THTY 98 # Thesaurus cd
BT WA & fere fopar wirar 81

1. To correct the spellings / Wi T8l d= & forg
2. To search a text / ¢&Re @i & [T



3. Tips for spelling / a1 & ﬁﬂ;!ﬁ%ﬂa
4. None of these / 37H ¥ &I Tal

Correct Answer :-

« None of these / 378 I &S Tl

23) Twenty men or thirty women can complete a work in 40 days. In how
many days will the 24 men and 24 women together complete the same

work? / 20 T3 9T 30 HigaTt U &1 &I 40 feA1 § &% Tad g1 24 Afgart iR 24 wy
THATY St BT Bt fova= e & o 9d 72

1. 30
2.40
3.60
4. 20

Correct Answer :-

24) In which year was the Right to Education made a Fundamental Right in
the Constitution of India? / wr<dta dferem § fave srferrme v wifers srfarpe e ad &
FEATIT AT AT?

1. 2008
2. 2009
3.2010

4. 2011

Correct Answer :-

« 2010

25) Haemoglobin is:/ FAREIN & TH:

(i) The colouring matter of leaves of plants/ U8 Urgu! #f IufRyd ts T verd
(ii) The colouring matter of blood / ¥&d &1 119 e &

(i) A compound that is highly coloured / T& 3= T Uerd &

(iv) A compound that contains iron / TP 3T o qiftre %

The correct answers are: / T 3TR g

1.1, 11 and iv



3.1, 11, 11l and 1v
4. 1, 11 and 1i1
Correct Answer :-

26) The antibiotic 'mitomycin' is used to treat certain types of: / 'FI'IEaﬁFT T oifae foed T &1
AT B & IUGRT Pt ATt &

1. Cancer/ P I
2. AIDS/ USH

3. Polio/ TR

4. Syphilis/ HTHe

Correct Answer :-

« Cancer/ &b I

27) Which state was the first in India to introduce Mid-Day Meal Scheme to
increase the number of kids coming to school? / ¥T<d # &9 & T 7 et &
AAAT TG T GeAT 7 ghg A * fore -3 fier Treer &t sy fBram a2

1. Gujarat / [Sa
2. Maharashtra / agrg

3. Tamil Nadu / & 15

4. Karnataka / #d1e%

Correct Answer :-

« Tamil Nadu / af#e 91

28) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements./f3=1: T foUT 7T wxA A 0 FY 3R ITP 918 $O Frepd faw 7w g1 st
fou Y YT B TG ATAT 8, Y g1 9 Jagna aat A fy=1 udia g1a 81 1 9+ft feput =1 ufew
ﬁwxgﬁﬁq%ﬁqwﬁwﬁﬁﬁﬁﬂmaﬁ‘m FU I SR BT B, I8 FagTd
O |

Statements: /PY:

All cats are bats/9 fafemal, Taes €



All bats are tabIes/H‘l-ﬁ JHITGS, ﬁﬁ%

Conclusions: /fspd:

I. Some tables are batslwﬁﬁ,m%'

I1. Some tables are cats/ﬁﬁﬁ,ﬁ"%ﬂﬁ'?

1. If only conclusion I follows /ﬂﬁmﬁf@b‘ﬁh &WW%

2. If only conclusion II foIIows/‘CF%WﬁEb_ﬁf II GENTUTW%

3. If either conclusion I or II follows/af¢ a1 df fpy 1 41 11 &WW%
4. If both conclusion I and II follow /af¢ fswe I SR II T ARV H3d &

Correct Answer :-

« If both conclusion I and II follow /afg fIsrd I 3R II T TRV H3d &

29) Mobile phone uses:/AIESd B9 IUART HIdT -
1. Full duplex/%d S@id

2. Simplex/ Ry

3. Half duplex/ 8% §&idd

4. None of these/ sﬂﬁ J aﬂ‘{ gl

Correct Answer :-

« Full duplex/%d Swia

30) What is the ratio of Centre and State funding for establishing Ashrama
Schools in states? / fos Toat # sy ey o @ 9 ¥ v Tox ¥ i ¥ F=r
AT TZaAT &2

1. 50:50
2.60:40
3.70:30
4. 80:20

Correct Answer :-

« 50:50

31) Vishal walks 2 km towards South. He turns right and walks 3 km, and then
he turns left and walks 5 km. Further, he moves 2 km after turning to his left.
What is the total distance travelled by Vishal?/ fa=ma 2 fot gféror fezm A gear



21 98 31¢ Yoo 3 forrt aaar 8, fp a8 a1¢ goar @ oM 5 fH) aaar 81 3R siq # gg 9w
geox 2 fott gaar 81 fa=ma gr1 a9 it it $a gt fopasit g2

1. 7 km/7 foouit
2. 12 km/12 foeit
3.5 km/5 fodt
4.10 km/10 foet

Correct Answer :-

e 12 km/12 f&Ht

32) What is the shortcut to open the File Open dialog box? /WBTsd 3MU9 SN
T B 3NY9 B & oY Wiedhe & w9 82

1. Alt + F12
2. Shift+F12
3. Ctrl + F12

4. F12

Correct Answer :-

« Ctrl + F12

33) DIRECTIONS: Find out missing number from the figures given below./

= & wit sreforat & qua Tem wra S

48 202 105 191

1.6
2.9
3.13

4.2

Correct Answer :-
e 6

34) The difference between compound and simple interest on a certain sum
for 2 years at 5% per annum is Rs.55. Find the sum. /ot i WW@W



AT ATYROT TS BT 3R 2 T A 5% Ufaay o1 @3 A F.55 8| AU J1d B
1. Rs.18000/%. 18000
2. Rs.22000/%F. 22000
3. Rs.19000/%. 19000

4. Rs.25000/3. 25000

Correct Answer :-

« Rs.22000/3. 22000

35) With respect to the Child Marriage Act, 2006, find the incorrect sentence
out of the following options. / at= faatg srfarffaw, 2006 F Tw=taa A Reai § & o
oreeT &7 =799 FY

1. This law is also applicable to citizens of India beyond India / 7g st Raw w=a % 918
AT AR 9T Y A1)

2. This law is applicable to whole of India, except Jammu and Kashmir / 7g stfarfeaw
STHY 3T FEHIY % STATAT T WA H AN &

3. Both of the above/3ur Tl
4. None of these/za# & &IT &l

Correct Answer :-

+ None of these/za% & FIE LT

36) DIRECTIONS: Choose the missing terms out of the given alternatives./

ford: fog e fawedl # & g val 1 19 ¥ |
_bb_c_bg_b_g

1.cbgbc

2.cgbchb

3.cgbcc

4.gbcbb

Correct Answer :-

37) Which of the following methods cannot be used to edit the content of
cell?/ fFafafaa faftml & @ 919 @ 9 &1 Hde o Jurfed F1 & g uaT T8 foea
ST T 82



1. Pressing Alt key / Alt $oll GaTHR
2. Pressing F2 / F2 QdI®R
3. Clicking the formula bar / BT IR &1 fad® HRdb

4. Double clicking the cell / I B S9d fadp HIb

Correct Answer :-

« Pressing Alt key / Alt $oil GaTHR

38) In which year was the Ministry of Welfare bifurcated into the
Department of Women and Child Welfare and the Department of Welfare? /
FNY I § FHEATT FATAT T HigdAT T ST (A8 AT AT Fooqmor s § fors=s fBrgT =72

1. 1984-85
2. 1985-86
3. 1986-87
4. 1988-89

Correct Answer :-
« 1985-86

39) The Persons with Disabilities Act, 1995 ensures the Right to Free and
Compulsory Education of persons with disabilities until years of age. /

farspetivr =i erfafaw, 1995 F siavia YT % IF T fAwerir sfeal & forg e e
srfeaTd et 7 srferpr A = g |

1.16
2.17
3.18
4. 19

Correct Answer :-

40) What is responsible for metamorphosis?/HATAIRUT ﬂ?ﬁﬂ: I'H'Rﬂ'lg graT %—
1. Estrogen/\}ﬂ@a:f

2. Thyroxine/?-l'lgﬁmq

3. Parathormone/URTTAT

4., Glucagonﬂwq



Correct Answer :-

e Thyroxine/ ?‘I'f%—{:ﬁa:l:l

41) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women cannot be called ‘Sati’?/ <t afafa (Twam) sifafaaw, 1987 %
AT (Ao | F e afgaTeli &7 G’ it A § T@T qAG1 A7 gGhdT 8§72

1. A woman being burnt alive along with the body of her relative voluntarily / 7= ®fg=T
ST 379 g Tl & <8 & 919 3% TA=gI a® STdT (<47 ST @1 g

2. A widow being burnt alive along with the body of her deceased husband forcibly /
T AigdT (Sl 97 e I 6 <8 & a1 Taeaed! STl (od7 31 @l &

3. Both of the above/3Iu<r#a T
4. None of these/z7H & &< A%l

Correct Answer :-

« None of these/za% & #IE A&l

42) Who decides the order of priority of work in MGNREGA? / =TT & FTH &
TTATHHRAT T FH < R =0T AT 52

1. Central Government / g H7FTT
2. Ministry of Rural Development / ITHtor faeme w=3marT
3. State Government / T=T 93X

4. Gram Sabha / am& 9T

Correct Answer :-
« Gram Sabha / ITH 47

43) To create a new table, in which method you don’t need to specify the

field type and size?/U® 78 dTiedT g4 & forg, frd ugfa & MU Wits TR ik
PR FIFET F B} AT Par T8 22

1. Create Table using wizard /fa%TS & gRT ¢ S

2. Create Table by Entering data / SeT U¢l & WY ¢&d S
3. Create table in Design View / f&oed & ¥ <ad s
4. None of these/ 370 ¥ &3 Tal

Correct Answer :-

« Create Table by Entering data / SICI QEfT & TIY g §AT



44) “Food grains” under the Food Security Act, 2013 does not mean:/ @<
T srferfaaw, 2013 F a6 & § 9971 “@rams” & favid qal ar?

1. Rice / 9@«
2. Wheat / g
3. Coarse grains / 1 STATST

4. Pulses / 311

Correct Answer :-

e Pulses /3t

45) If the numerator of a fraction is increased by 200% and the denominator
1

is increased by 400%, the resultant fraction is 120, What was the original
fraction?/ Ufe T fUH BT 3 200% FSTAT WITT 3R X 400% FTAT WTC ol gfvomsH firs 1
1

20 g | e e e ur?
3
114
11

2. 10

Correct Answer :-

« 14

46) Which answer figure will complete the pattern of the question figure? /

e o & o1 3 SR enpfa wy snpfa &1 quf wwft?

\.. 7P
‘b?J/’jé/f’ﬁ

(a) (b} ) {d)




4.d

Correct Answer :-

« d

47) How many districts have been selected for the Beti Bachao Beti Padhao

initiative? / & TS SET TRTS UgS o forw Fohaw et &1 AT TAT 872
1. 50

2.75

3.100

4. 125

Correct Answer :-

« 100

48) Insulin controls: / 3'\&1%7'[ frafya sar &

1. Todine level in the thyroid / YTERISS U AT I A
2. Amount of iron in the blood / Iad H ?ﬁ% CAREIE]]

3. Level of sugar in the blood/ Ydd T BT P AT

4. Level of urea in the blood / Y& & qﬁfm CAREIE]

Correct Answer :-

« Level of sugar in the blood/ ¥ad H T P AT

49) Identify the diagram that best represents the relationship among mobile,

television and electronics./ agemgﬁwhmaﬁm EIESE] Gﬁ?s'ai@ﬁa?a?ﬂ‘iﬂ
T} WY 1 fARequr St 81

O O
1 L Al i 4

, (@

, OO

4.

Correct Answer :-



50) The formation of archenteron starts in/s?rl'laﬂﬁ_"l BT 91T URYH ﬁ_\'ﬁ %—
1. Morula/ ATSaT ¥

2. Blastula/ SR 3AT q

3. Early neurula/ URIH& gl 3

4. Early gastrula/ RS ﬁEFIT I

Correct Answer :-

« Blastula/ SIRG3AT 3

51) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ f3%1: fFrafafEd uig aré &1 eaqyd® sreaa = -4 few e uy
& IW GIferg|

Percentage wise Distribution of students in six different Schools./Gﬁqﬁ-ﬁ
ool ® wfo=rargarR sl &1 faavor
Total number of Students/%d STl I JBAT = 6000

School/FIgamaT A
school/fgama F,N 175
School RATWAT B8, 9%

school/fagaraT
29%

School fagTTET O,
18%

What is the difference between the total number of students in School-F and

School-E?/ faemed F 3R faemed E & oo o= it G- & & $idr 382
1. 1820

2. 1860

3. 880

4. None of these /éﬂﬁ@raﬂ?ﬁﬂﬁ

Correct Answer :-



« None of these /sﬂﬁﬁaﬁé%"f

52) How many Adarsh Grams have to be developed under the Saanjhi
scheme till 2019 by each MPs? / Y% Higal gTXT ais TeET & iqstaq a9 2019 T fFa=
el ATHT T FAHTE AT TRAT?

1.2

2.3
3.4

4.5

Correct Answer :-

e 3

53) Anil introduces Rohit as the son of the only brother of his father’s wife.

How is Rohit related to Anil?/3ifa Jfgd &1 ufv=y Hxarar g,f Afga sas fuar &t
Uil & THHTT UTS &1 O3 ¢ 1 fea, oifa 9 5 yer awifia 82

1. Cousin/w

2. Son/4d

3. Uncle/dTdl

4. Son-in-law/cMHlg

Correct Answer :-

« Cousin/@® o

54) This disease is caused by the deficiency of protein. Can you identify it from the given options?/

TN @t HH |/ Bra1 I gt &, faen dae wgarfe
1. Goitre AdTgeX (Ye)

2. Kwashiorkar/ BTRISR®R

3. Hypokalemia/8TIOIb Il

4. Dermatosis/ SHC I

Correct Answer :-

« Kwashiorkar/ ®TRIRB

55) If 'Bus’ is called 'Aeroplane’, 'Aeroplane’ is called 'Train' and 'Train’' is
called 'Ship’, then 'Jet Airways' comes under which category?/ gfe '« &I



" P Al 8, 'faur &1 '3 81 9TaT @ SR 'S @) 'SIgTe’ $el ordl 3, 1 ol
TgRaw’ g ot o amar 82

1. Bus/dq

2. Aeroplane/fad™
3. Ship/SE

4. Train/a_rr

Correct Answer :-

. Train/a_rr

Topic:- Grad_Managerial Skill

1) is a process of receiving and evaluating information about our

behaviour:/ , TR AR & a1 H TSR U &34 3R Geuih- &1 Pt
tr%m%:

1. Channel/ HI&9H

2. Message/ R

3. Feedback/ B8ad® (JAMARM)
4. Encoding/ﬁ@q (Qﬁaﬁ%ﬂ)

Correct Answer :-

. Feedback/ WIS (GAaR)

2) A definition on “A social group is a system of social interaction” was given

by:/ “HTHIN® THE, ATHTG =<fshdT P TH YUMN 8" T URUTET___ gRI Y
It A

1. Ogburn and Nimkoff/ 3M7e Td fAHASIE
2. Harry M. Johnson/ %QQI TH. NIERE

3. R. M. Maclver/ 3R. T0. Hhddx
4. Marshal Jones/ﬂT&’fT*[GﬂTH

Correct Answer :-

« Harry M. Johnson/ %ﬂ TH. S

3) The leader required in extension work is :/ fawaR &rd A sawas

ﬁm‘f%_:



1. Caste leader/ STfavTd AdT

2. Local functional leader/ I ST Ad
3. Lay leader/ 3f&iférd Aiq@dmal (o dex)

4. Religious leader/ e Aar

Correct Answer :-

. Local functional leader/ QI SR AdT

4) Groups are classified into primary and secondary group

by :/ SRT AR &Y WUl vd fydtae wgt § wifea fear m &
1. Summer/dH

2. Cooley/ W

3. Mac laver/ §& &R

4. Karl max/®Tel Hed

Correct Answer :-

. Cooley/ Fait

5) is the planned display of models, specimens, charts, posters etc.
aimed at instruction, judging in a competition, advertising or

entertainment./f&ft uforegf, fagma ar gaRes & fAdw &, fFofa [/ 8fe w®
afera arsdl, A1, arfaered, Wwexl 3fe & g wexi &t Fed &

1. Field trips/&% =g
2. Exhibition/ UGsH
3. Poster/ﬁw

4. All of the above/SWR & Tt

Correct Answer :-

« Exhibition/ UG

6) Community development blocks after completing the scheduled period of
operation were called : /3ared @t Fruffya safy gt w7 o & 91¢ I
fawTa @si &t ST SITdT oT:

1. Traditional blocks/ TRTR® TS
2. Post- intensive blocks/ Iu9-UYTd TS

3. Modern blocks/ 3Y® g



4. Intensified blocks/g-1Yd ©s

Correct Answer :-

« Post- intensive blocks/ T99-U4Td TS

7) is probably known as ‘blood relationship’:/ P GYaq: Vo
TR’ & 9 § ST A7 8:

1. Cluster/ =8

2. Clan/ d
3. Kinship/ ST

4. Kith/Xasiq

Correct Answer :-

« Kinship/ S=dT

8) is complementary to the development of human faculties, traits

and human nature:/ ,WQTW, F[&-I'Uﬁ HWWWW/H%W%:
1. Classes/an

2. Groups/dHg
3. Kinship/3 M=t

4. Society/gd1sT

Correct Answer :-

« Groups/dfg

9) Group discussion method works best in : /g T4t fafy |
TdAg Brf BT B

1. Tense and inhibited atmosphere/ TTaURd Td 3{dRIYd HIGIA

2. Permissive and inhibited atmosphere/ Wdadet T4 3faR1ed AR

3. Group haring democratic and permissive atmosphere/ AlpdiA® Td Waadiar] e

CINKEH
4. None of above/ B‘W{Iﬁﬂ 7Y B3 Tl

Correct Answer :-

« Group haring democratic and permissive atmosphere/ AlpdiA® Td Waadiar] I

CINKSE



10) Community development projects were launched by YA R: 1K)
foera avaieAe _ g7 3Re 3t Tt

1. Pt. Jawahar Lal Nehru/ Gfgd SaTeR dd g%

2. Dr. Rajendra Prasad/ 3. Iig U9TG
3. Dr.C. Rajgopalacharya/ . T, JeAuTam=m
4. Sardar Bhallabh Bhai Patel/ TRGR §cdY HTs Ucd

Correct Answer :-

« Dr. Rajendra Prasad/ I. I6i% UG

11) Two decoding skills are:/ & SiHIsH I &
1. Writing, listening/ oG, 49U

2. Reading, listening/ UdH, 44dul

3. Writing, speaking/ @“@F[, CIEE]

4. Reading/Ue-l

Correct Answer :-

« Reading, listening/ Ud-, 4dul

12) On the basis of nature and quality of social interaction groups has been
classified into:/ ATHTN® 3IfhdT ®I UPHId T UEHT & SATUR TR TYZI DI |
iffpa far mar &:

1. Primary and Secondary/ Ui T fgdias
2. Genetic and Congregate Groups/ &naaﬁaﬁ qd QEI'TﬁH qHe
3. Small and Large Groups/ &g Ud fa=Id IHg
4. Involuntary and Voluntary Groups/3Hf5® Td Ufasd THg

Correct Answer :-

« Primary and Secondary/ Uiy td fgdiad

13) The normal group boundaries gate obliterated in:/ H gAY gz
HHTE / R 9ATE B A1 6

1. Method demonstration/faf¥ TexH
2. Farm and Home Visit/%iH T4 TR W JaAbTd



3. Office Calls/PTaI HId
4. Campaign/ 313

Correct Answer :-

« Campaign/ 3

14) The type of leader who has received specialized training and is paid for

the field wok is called :/ Aq@ddl (A1) BT 98 YR o fa=iw ufreror frem
2 R R S o1d ¥ T yaE PaT w1 R, S

1. Autocratic Ieader/ﬁ@‘ﬂﬁ?ﬂ

2. Lay leader/3fEiférd Adadmdl (A Tex)
3. Professional leader/ ORIaR Aqaddl
4. Democratic leader/dlddiAe dl

Correct Answer :-

« Professional leader/ URIaR Aq@ddi

15) The degree to which a communication source is perceived as trust

worthy:/ &5 JOR did fHg TR a9 Ay 91 S @ 98 W1
1. Active listening/ Tihg yqur

2. Credibility/ fdyg=adn

3. Interpersonal/ 3fddafaded

4. Passive listening/ AfSFg sqor

Correct Answer :-

« Credibility/ fayg-taan

16) The term “community development” appears to have originated from
at summer conference on Africa Administration:/ s “HYIT faora”,
WP TR R N e @i d @ P wdia g 2

1. Cambridge/ Fiswr

2. San Francisco/ 94 WiRkR®!
3. St.Louis/ ¥¢ gy

4. Geneva/SiHdl

Correct Answer :-



« Cambridge/ Ffoer

17) Extension methods which reach large number of people in a single
attempts are called:/ T% W49 ¥ g8 &1 d AN a@ Ugd- arelt fawar faftri
Feardl g

1. Large method, favma fafe

2. Mass method/ gdw fafy

3. Multi-media/ Hed!-Hifgar

4. Multi purpose method/ Sg3e=dg fafd

Correct Answer :-

« Mass method/ ¥dw- fafd

18) is posing new challenges at the global and local levels:/ ,

A ok Wit TR W Tl gt O e B
1. Development/ f[d&T

2. Communication/ IdR

3. Maroecnomic/ Waﬂ%

4. Growth/ dfg

Correct Answer :-

« Development/ famry

19) Which determines group life?/ Iqg Siiaq &1 fAufor H19 war 82
1. We-feeling/ TH &1 Tgd™

2. Feeling of unity/ Ushdl T Tgd™
3. Common purpose/ dHI B%QEI

4. All of the above/3 TR & JH

Correct Answer :-

« All of the above/3WR & Il

20) The operational stage of community development project which was to
be completed in three year has the duration of : /9gerd fawra ufare
&1 a8 Wl o i ad o gt faear s o1, &Y erafd 3t &t



1. 3 months/3 HIg
2. 9 months/9 HIg
3.12 months/12 HIg

4. 18 months/18 HIg

Correct Answer :-

« 18 months/18 HIg

21) Choose the most important reason among the following for failure of
rural development programme in India :/ YRd § uH faerg PTAHH Bt
fawaar o1 e ggayul HROT gH :

1. Poor planning for planning/ ¥RId dg Y fraem

2. Problem of effective monitoring and Implementation/ YHTd! AR Td FHraaaT i
NI

3. Lack of resources for programmes/ HRISHH gq ST BT 3HTT
4. None of these/ é:l'ff q aﬁé :ié)[

Correct Answer :-

« Problem of effective monitoring and Implementation/ gHTdT IR Td HIATIT DI

JHJT
22) is a traditional mode of mass communication:/ , SIH
TOR & yRAfve faer 8:

1. Television/calfawH

2. Newspapaper/ JHER-UA
3. Radio/ &t

4. Internet/3c3c

Correct Answer :-

 Newspapaper/ SHHR-UF

23) The development is a process through which human and material

resources are activisted for improved quality of life and VACCIR R
wferar 8 foraed a1erw & |ig ve Wifas Jaree & dgav sfitad Jurasm aur &
o wfera fear wmar &

1. Change for creation/ g9 gq URad-

2. Income generation/ 3{1H Joiq



3. Life style/ Sl
4. Education in nature/ Ufd O fRigrn

Correct Answer :-

« Income generation/ 319 oI+

24) When the leader has no confidence in himself and believes that workers

can do the work as 1/ S9 14T (Agcadar) § efayr &) gar 3k 98 HI-aT &
o srdwat a1 F% GFd g, 9 T a1 Bt Pl o1l 8:

1. Democratic leader/ A&diAd Adl

2. Autocratic leader/ ﬁw e

3. Lassies faire leader/ 3fg¥aardt dr

4. Lay leader/ 3Eifrd Aqadmdi (4 dex)

Correct Answer :-

. Lassies faire leader/ 3/g&dadt AT

25) Group discussion method work best in : /g Tt fafy |
H49g H1d BT B:

1. Tense and inhibited atmosphere/ d-Ta¥Rd Ud SARIYH II'I?IFT
2. Permissive and inhibited atmosphere/ TWdadIGt Td 3faRIYUS HIGA

3. Group having democratic and permissive atmosphere/ Aedife Td Waaaerll areta
CIGKIEH

4. None of above/({q?jaﬁ 0¥ PIs Tal

Correct Answer :-

« Group having democratic and permissive atmosphere/ NEGIEEREESRERIFAR] Aed

26) Community development block were started in : /9 faora s
H R f5d T 2

1. 1952
2.1954
3. 1956
4. 1958

Correct Answer :-



27) Three main components of communication:/ IdR & = HBI Ych %
1. Channel, receiver, feedback/ II'ITf, DTlﬂTcﬁ, trl%gf@

2. Source, channel, receiver/ |id, AT, UTcdHdl

3. Source, receiver, feedback/ @ﬁ, W, H[?I'E[@

4. Source,channel, feedback/ Q;ﬁ?r, IIT“f, Elﬁqu@

Correct Answer :-

. Source, channel, receiver/ Iid, AT, Ul dl

28) Each project area in community development block was each consisted
of 100 villages and population of 60,000 to 70,000 : /e faera W@ &
TS UiaisT &3 | 100 779 94T 60,000 | 70,000 P TS e ot

1. Three/ GG

2. Four/ IR

3. Five/ U@

4. Six/ ©:
Correct Answer :-

e Three/ GG

29) P.A.Sorokin has divided groups into major types:/ Ut. €. RIfHT A “ﬂ'ﬁlﬁ C|
@ upri § faurfeea foear 313 &

1. 'In-Groups’ and ‘Out-Groups’/ ﬁ?ﬁ{é’ (27-99) 3R H%ﬁ'%’ (313c-4U)

2. Involuntary and Voluntary Groups/ 3<% Td Ufse g

3. Horizontal Groups and Vertical Groups/ aﬁﬁwﬁ G;"?.acﬂﬂgs’
4. Primary Groups and Secondary Groups/Wufiie g wd IEGIRED g

Correct Answer :-

« Horizontal Groups and Vertical Groups/ %HEHEQH St g

30) Group discussion is suited to which among the following stages of

adoption :/ 3fierur & 39 A fore T # wyg =i Suge 3

1. Awareness/ SIS dl



2. Interest/ S
3. Trail/ Uafg- (¢d)
4. Evaluation/ i

Correct Answer :-

« Evaluation/ Jcdih

31) The motivational phase in training is more considered called 1/

ufieror § 98 WRomerdt @R R iftre wew far s §, Heardl 8:
1. Preparatory phase/ TR TROT

2. Pre-training phase/ U@T&‘FUT—EEFETUT
3. Training phase/ UfRI&0T TROT

4. Post training phase/ URI&U-TTd TROI

Correct Answer :-

« Training phase/ A& TRUT

32) Limitations of audio visual aids are:/ m-mwwﬁlﬁ/mﬁ @t

HdrTe 8

1. Learners may form mistaken or distorted impressions/ fRi&mf 7ea ar fapd YROMY &1
IPhd g

2. Temptation for the teacher to narrow down his teaching only a few big ideas not
giving the complete picture of subject/ J&TUD BT 30 3O Bl §9 DS El% EEIR
A d% HfAd A BT Ay 3R T 31 gf qedR 7

3. Possible risk of ‘spectatorism’ instead of an attitude of thoughtful enquiry/ EERVIE
Sa-U8dTd & Y DI I ‘VedhdTa’ &1 JUTd Sirfad

4. All of the above/SWR & Tt

Correct Answer :-
« All of the above/SWR & g

33) Which of the following is more closely related to the social inequality?/

379 A S GRS ST 9 Sifye Ieftuar & gwfRa 82
1. Social dynamics/ ITHIfSI® Tt
2. Social differentiation/ TG faved

3. Social stratification/ TTHING TRUT



4. Social control/ImHIN® fd=zor

Correct Answer :-

« Social stratification/ 9T 0T

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./
. Fafafad T o aryde tees 9@ - f3a T sglawalt uxi & 98t fdwe w1999
2y

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

AR a1 RgAeIE (Afe 3 sgear |, e ord g arsm sar), s #
U AT 918 bdl MR Jbafag & ot & ST & a1eay A Uh 9 a1 9YE I g
I 91 g a@ difeod 3 Ugam & $d & $ad 8| TR Th WM A ga RIH S I
UgaTH $T I HIA ¢ ISTHiTP Tg Th IXA-HIURYT GRUTYT 8, TR &9 87 39 918 | diad @
o g9 JUR A HR GPd 7, 9@ 98 vy aga wfed 591 omar @ AR & fafie aftr € ik
ot oft T fadiy R 39 A +3 ufed 8 a@dt 31 WaR 3t Al aftry & =nfire &

I S 91T 91 e/ Mfg® JOR: ATHA-ITHA, oiwiH, IfSar a1 Seifaw= vd o=
I |



IRNfe® WaR: IR BT UTHT, YTT-URMEE, 50 FA ufy ug-d a1 &1d $3d § - ggi a5
o5 gAY I/

fafea Jar: 1=, $-09, [Rad, e, Sex-e a1 o= ATEHl & S|

Wgﬂm:anﬁ“@@mw,mﬁﬁ,?hﬁ,qammﬁwmaﬁmm
TPhd ol

AR P 4RI (I99) X4, 9, WA (SFe3d) (B9 3a 7) iR Wit (2few), wmor
fagaagaaty, mmﬁmélwmm%mmww%lw
¥ 1S U § Wi, W, THdred, unf, Sdteq, urawal, ufagfy wd g | 59 Afea &1
faera F31 aral # TR frgiaer s@ars A4, faeay a7 T wd e 1 947 3
MrE A1 AT FER d U & TS SUGHT & HRT SHfgeda 21 ae 7@, TaR
et giar 8, fauufere T8 IER te qravwT ufspar 3 Rrad foart &1 seM-
m?ﬂy;m%;mﬁmmmﬁmm,ﬁm-mwm%mm
IUA |

Communication is derived from:/T[sq Wﬁ, yTyT & o §:
1. Greek/ dl®

2. Latin/ dfe
3. French/ e

4. None of these/ 370 q &I Tal

Correct Answer :-

. Latin/ dfeq

2) DIRECTIONS: Read the passage and answer the questions that follow./
= Fafafad T @ aryde tees 9@ T f3a T sglawalt ux=t & 98 fdwe 1999
DI

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.



Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

AR a1 RgfAeIE (Afe 3 sHea |, e o 8 arsm sar), s #
T 9 aTdl Hbdl MR Aharaw & faal & SughT & ATead I T 9 a1 I8 9 g
I g1 GYE aF difesd 3 Ugaq & $7 &) Fed 2| AR TH I A O R B g1
Uga &1 $d ATH 8 ITei1P 98 Th IA-ATUR TRYTT §, IR 919 87 39 IR d 9i9d &
o g9 TUR 9 FR IHd §, 91 ge fauy ggd wifed a9 omar 3 19AR ot fafis 9w € ok
et +ff Twg iy R 3 @ 3% ufea & wodt 71 AR $1 fafira Afvral & e &

e S areT 91 e/ Mfcgd TAR: MHA-9THA, owiH, IfSaT a1 eifae g 3=
HIHAA |

IMTIH HAR: IR B HTHT, UTI-HRMTE, 7 & uRYU dg=d 91 1 o § - Igi a5
o gurt /53 W

fafea Jar: 1=, $-09, [Rad, e, Sex-e a1 o= HTEHl & S|
Wgﬂw:amqﬁmm,m&ﬁ,?ﬁﬁ,qammﬁﬂmﬁ%ﬁaﬁwmm
TPd ol

TaR $T 4RI (A9 =X, 9, W (SF3d) (B9 5a H) R Wit (2few), wror
fagaagaaty, mmﬁm%lwmm%wmwm%lw
& 33 °UTH ¢ Hid, W, TAHISH, AN, Sdpred, urasmdt, ufayf® vd g<if| 59 afsa &1
faerg F31 aral # TR frgiaer s@ars A4, faeay a7 T T e 1 947 3
MRS A1 AT FER d U & TS SUEHT & HRT g 21 ae 7@, TOR
et giar g, ufauufere T8 IER e qlavwT ufspar 3 Rrad foart &1 seM-

wer= frar wrar @; afe 3 THarwT #R g S, at serH-ver ¥ STt @ Rorad gar=n
IT gt Bl

List of verbal communication/m AR B ﬂ?ﬁ
1. Face-to-face/ 3TH=-TTHA

2. Gestures/ gld-HId

3.  Television/ ¢difaw

4. Logos/?ﬁ"ﬁ

Choose the correct answer/ Tgl 3T T

1.1 and 2/1 3R 2



2.2 and 3/2 3R 3
3.1and 3/1 3R 3
4.4 and 1/4 3R 1

Correct Answer :-

« 1and 3/138R 3

3) DIRECTIONS: Read the passage and answer the questions that follow./
= Frafafad T o aryde tees 9@ - A T sgfawaht uxi d udt fawe w199
DI

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

TR i~ FRAHIE (dfe s sRgHFaR A, Rraer ord 8 arem #=Ar), smug o
U AT a1 Hbdl MR Jbafaqrd & ot & IuaT & I1eay § Uh 9 a1 9YE I g
I 91 g a@ diteod o UgaH & $d $ $ad 8| TR Th WM A gax R S I
Ugd &1 $d HIA 8 ISTAi1P 8 Th JRA-ATURUT TRYTYT 8, TR o9 87 39 IR A i< &
P T 9OR $Q R THd ¢, a1 T8 Ay Iga wfea 99 9ar B IR $t fafiT afvr § e
ot ft T fadiy w39 @ +5 ufed g a@dt 31 WaR 3t fafis aftr § =nfire &



T S 91T 91 e/ Mig® JOR: ATHA-ITHA, ToiwiH, IfSaT a1 Soifaw= vd o=
I |

IRMfe® OR: IR BT UTHT, YG-URMETE, 50 FA vy ug-d a1 &1 $d § - Tgi 9B
o gaRt =I/5T

fafea 9R: uF, 3-09, q&ad, a1, $ee a1 39 ATH] & Sivu|

wm@mmm@mwmﬁwﬁam
|
wmqﬁ(aﬂmm Yo, Wy (SaeTsd) (S 9 H) 3k el (3fdw), uror
mﬁamvwﬁmﬁm%ugaﬁ%mmhﬁ%wmﬂm%lw
%mw%%ﬁa,ﬂ%ﬂ,@ﬁﬁ,qﬁ,ﬁaﬁsﬁ,m,ﬂmﬁﬁmwmm
faoprg @ aral § R RNgideR wie 94, faeax AT TpTH Td I 5T a1 3=
Mra A1 AT JER Sd U & TS IUFHT & HRT SAfgeda 21 ae 76, ¥OR
YgPTUTHD BT g, Ufauufe 8 I99R U Sravwr ufspar g oA ey &1 simeM-
mgg;m%;v%sﬁmmmﬁmm,aﬁm-mwm%mm
IA |

Channel of communication can be?/ HdR &1 Art ﬁf Hbdl %:

1. Visual/ 9

2. Tactile/ WY (TT3d)
3. Auditory/ 40

4. All of the above/3udad Tt

Correct Answer :-

« All of the above/3Iudad Tt

4) DIRECTIONS: Read the passage and answer the questions that follow./
= Frafafad T @ aryde tees 9@ T A T sglawelt ux=t & 98 fdee w1999
Gy

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.



Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

AR a1 RgAHIE (A 3 sear |, e ok g arsm svar), s #
U AT 918 Hbdl MR Jbafagr & ot & IuahT & a1eay A Uh 9 a1 9YE I g
I 91 JYE a@ difed 3 Ugam & $d & $ad 8| TR Th WM A ga R S I
UgaTH $T g HTA ¢ ISTHiTP Tg Th IXA-HIURYT GRUTT 8, TR &9 87 39 918 | 9rad 8
o g9 JUR A HR GPa 7, 9@ 98 fAwg aga wfed a9 omar 2 1IER & fafie aftr € ik
ot oft T fadiy R 39 A +3 ufed 8 a@dt §1 WaR 3t Al aftry & =nfire &

T S 91T 91 Mfee/Mfg® IR ATHA-ITHA, oiwiH, IfSar a1 Soiifaw= wd o=
I |

IR TAR: IR BT YTHT, YTG-URHETE, 50 FA 9y ug-d a1 &1 A § - Tgi 9B
o gaRt =I/5T

fafea ¥9R: u3, 3-09, q&ad, UHEg, $ex-e a1 3 HTEH] & Sivu|

wm@mmm@mwmaﬁmm
|

TOR BT 9171 (I9d) TW™W, 40, W (SFeTsd) (S sa §) ok weff (2fv®), oo
fagaageaen, mmﬁmﬁlwaﬂ%mm%WWMW%lw
¥ TS UeH ¢ Wid, Haw, Tdied, A, Sered, uraeal, ufrgfy wd g | 3w wica &1
faorg @1 aral § YR RNigideR T@ie 394, faeay A TpTH Td I 5T a1 3=
A A1 TG FER S HTIT & ATIS ITANT F HRT Afgedta g1 a1 7-, TR
Ui gidl 8, Ufauufere 18] IR e qavwT ufsear & R =y &1 seM-
m?g;m%;wﬁsﬁmwﬁmm,ﬁm-mwmémm
Id I

According to Claude Shannon’s model, there are elements:/ FATSS
A F AlSd & AR r A G

1.5

2.6

3.8

4.7



Correct Answer :-

- 8

5) DIRECTIONS: Read the passage and answer the questions that follow./
frd=: Fafafaa Teiw #) aFyde yees 3ud A 3 T agfaesadt uxei o 9t fawen &1 9+
P

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.

The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

AR a1 RgAHIE (Afe 3 sgepar |, e ord g arsn sar), s #
U AT 918 bdl MR Jbafagr & ot & I & I1eay d Th 9 a1 9YE I g
I q1 JYE a@ difeod o UgaH & $d & $ad 8| TR Th WM A gax R S I
g9+ $T g HIA ¢ ISTHiTP Tg Th IXA-HTURYT URUTHT 8, TR &4 87 39 91X | 9iad @
P T TOR $Q R gPa ¢, a1 T fAwy Iga wfea 99 9mar 2 IR Ft Al afvrd § e
fredt +ft Iwg faRly W SR & &% gfed @) godl €1 IR &t fafs aftr & wnfre §:

I S 91T 91 Mifee/Mfg® OR: ATHA-9THA, oiwiH, IfSar a1 Soifaw= vd o=
I |

IR TAR: IR BT UTHT, YIG-URHETE, §0 FA YT Ug-d a1 ST $Xd § - Tgi 9B
& gurdt T=i/53 Wi

fafea dur: u3, 3-09, q&ad, UEEg, $ex-e a1 39 ATEH] & SiNu|
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TePIATHS BT 8, Ufaeaufcares 8} INAR U SravwT ufhar @ s faRY &1 sieH-
m?g;m%;vﬁgﬁmm%mm,ﬁm-mwmémm
IUA I

Human communication is unique for its extensive use of language:/
CIECE S0 YTYT & TS IUART & HIROT fgediy &:
1. Verbal/Snfesc®

2. Abstract/&ﬂfljf
3. Interpersonal/3iddafadd

4. Oral/af@®

Correct Answer :-

. Abstract/\?ﬂ?f

6) DIRECTIONS: Read the passage and answer the questions that follow./
= Fafafad T o aryde yees 9@ - f3a T sgfawaht uxi ° udt fawe o199
P

Communication (from Latin communicare, meaning "to share") is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. Communication is
simply the act of transferring information from one place to another.
Although this is a simple definition, when we think about how we may
communicate the subject becomes a lot more complex. There are various
categories of communication and more than one may occur at any time. The
different categories of communication include:

Spoken or Verbal Communication: face-to-face, telephone, radio or
television and other media.

Non-Verbal Communication: body language, gestures, how we dress or act -
even our scent.

Written Communication: letters, e-mails, books, magazines, the Internet or
via other media.

Visualizations: graphs and charts, maps, logos and other visualizations can
communicate messages.



The channel of communication can be visual, auditory, tactile (such as in
Braille) and haptic, olfactory, electromagnetic, or biochemical. It acts as a
carrier of the intended messages. The eight elements of communication are
source, message, encoding, channel, decoding, receiver, feedback and
context. This model was developed by communication theorists Claude
Shannon, Wilbur Lang Schramm and Robert Craig, among others. Human
communication is unique for its extensive use of abstract language.
Remember that communication is collaborative, not competitive.
Communication is a two-way process that involves the exchange of ideas; if
made one-way, the exchange is prevented and this leads to frustration./

TR T1f FRIHRE (dfe W sRgHeaR A, Rraer ord g arem #=Ar), smug o
I 9 aTdl Hbel 3R Aharagw & faal & SughT & A1ead A T 9 a1 e 4 gan
I 91 g a& difed o UgaH & $d & $ad 8| TR Th WM A g R St I
UgaTH $T I HIA 8 ISTdiTP Tg Th JIA-HIYRYI URUTYT 8, W &4 87 39 a1 | Hrad &
o g0 R $Q FR god g, a1 g fAwy sga wfed 99 Sa1 8 1R F Al afvr § e
forft oft Ty faly R 390 A &5 ufed 8 godl §1 WaR $t fafira afvry & wnfire @

I S 91T 91 Hifee/Mfe® JOR: ATHA-ITHA, 9w, IfSar a1 Soiifaw g o=
"I |

MNP TIR: IR Bt UTT, YT-URMETE, g9 F& Uik ugd a1 F1d Hd § - 98 ab
5 gurt /53

foafa dar: 1, $-09, [ad, e, Se3qe a1 39 ATEHl & Sivu|
mmgﬂwanﬁ@qammﬁﬁmqammﬁﬂwmaﬁwﬁaw
TPd Bl

TOR BT 47T (}9d) TW™W, 40, W (Sersd) (S sa #) o weff (o), omur
fagaadgeeny, mﬁhﬂﬂmﬁwam%lwaﬁmm%mmw&w%lw
¥ TS UCH § Wid, U, THIsH, AN, SpisH, uraedt, ufayf® vd g<f| 59 Afsd &1
fapTa o34 Tl § JAR fUgideR Faie 94, faeay a1 B9 Ud Iad H 9T 3
A A1 AT IR A U & TS IUGHT & BRI Afgdg 71 a1g 76, 9aR
Tehraid® gl 8, ufteuufare 78 I99R U SravwT ufshar g e faaRY &1 smeM-

W fran wraT §; afe 39 THarwT R e 91, 9t eH-ve ¥ STt 3 fras gar=n
I gl Bl

Communication is : /AR gHaT 8
1. Collaborative/Sg®HrATd®

2. Competitive/mm

3. Both of the above/3JURIad &I

4. None of these/3TH ¥ &5 gl

Correct Answer :-

« Collaborative/Jgh &S



DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s # aFyd® TeH: 39 4 3 T sglawed! uxai & 98t
fawea &1 a7 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However , till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (0OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

PR e Afwa=medt, Iuaiaar fFadt vd w0 @id g1 1 §1PC wif 37 SUdiadl & $H 88 a® aHiu
3t B 6 aga @ armal o Sudtaait A 39 e & Sy fEwins ud faw R #= o € 1sm@ifss, gra &
T, TTal A IS UGN B P T & 1T R favaasg vd &g uTaT $ext%h a1 S 81 gar
2139 Afaf¥ed, Taife FTSAUR &1 A1Td ue TG &, W ATvT SguanT & e Tarfire 1 ot @nra 3aft off
PTW! ARIP § | YAqH U F IS Tdl, 9 PC, WS, UlaR Wfyarger, fiiex ot anaaur ary o
TIFEATR (0S, STAY, TH ATUANT, 9 ot @] &) &) argdy anTd - wR-ufaeary & AFds & SR ),
WHR A TR T JaTE 9 H1 & 30 UGN BT Iy Rieg 78 w7 urclt §1 & Suwor ga wied!
SyEfera 8 wrd €, SR Iiior &= # 391t IR@Ta ATTd 31t &1 I anTa TRl R S anTd AT
UM & TR a9 UgaA & U fHues I o 57 IUBVN BT SUGNT HYd U B TP g goi Tfafaferai
Qe gift | 5 ura @ 6 959 @ Are § O sraie SuraAT Hieg T8 €, SR afe dieg § +f ), e
wWTH T HaTas 3 FETYH faeRia H- og URIEd 181 ¢ | $5 STl ArH0T SIguaiT & forg e grédar ud
TITFUR THTYT YRd B BT VAT B T2 ¢ | TN RS Bt PR IE (CorDECT) Wit 3k
Reptier Rven w1, 1. &1 Bregex T vgdl & 3/ SATE0 & | A WIS SIS Uedh!, Wireddx Ud gad Jid
Rien & A1y FTER TUT IRRAT BAfdefadt U fAeH R $vd 81 10 &1 ot 8 {5 sa Reni w1
TR R Iedre, Aritor gy & fore Suged Ud anTd-$ =i Wenfifeat ae- e, 39S fRIa MSSRF
yreftor <Y 3 Sugea et fewms 1 o sroft wrd e v 81

has brought them closer to the uses to the extent of using

computers:/ I8 P IYANT H1 Pl g¢ dP Sudtaarsil & urg @ mft @:
1. French revolution/ T &t ST
2. Industrial revolution/ SNeNfE I



3. PC Revolution/ PC 1<

4. None of the above/39dad ¥ ¥ ®Is gl

Correct Answer :-

o PC Revolution/ PC Hif

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s & aFyd® TeH: 39 4 33 T sglawed! uxai & 98t
fawea &1 a7 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (0OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

FHIER U AfFa=medt, Iuaiaar fFadt vd w0 @id g1 1 §1PC wif 37 SUdadl & 59 88 a® aHiu
3t B 6 aga @ armal o Sudtaait A 39 e & Sy fEwins ud faw R #= o € 1sm@ifss, gra &
T, TTal A IS UGN B P T & 1T R favgasg vd &g uTaT $ext%h a1 ST 781 gar
2139 Afaf¥ed, Taife FTSIUR F1 ATTd ue TG &, W ATHIvT SguanT & e Tarfire 1 ot @nra 3aft off
FTG! AP 81 gAaH FU A ATaIF T+l S PC, WISH, Ul wRigarger, filer $t araaurary o
TIFEATR (0S, STAY, TH TN, 5 4t @r] 8Y) #) argay anTd fFaR-wR-ufadry & aFds & STUR |,
WHR A TR T JaTE 9 H1 & A UGN BT Iy Rieg 78 w7 el §1 & Suwor gga wied!
Syaferd g1 Sird 8, 3R UrHior & ¥ 311 TeRE1d anTd iR § | adH anTd Wl UR SO anTd feTe
UM & TR a9 Uga- & U fHaes Jaresd o 57 SUBVN BT STINT HYd U ABTID g goi Tfafaferai
@i githt | v uran @ fr aga @ wrmal § it sararfyes Tt digig T 8, ik afe Mg 8 W at, fras
wWTH T HaTas T3 FETYH faeRid H3- og URIEd 78t 7 | $5 STl AFH0T SIguaT & forg e grédar ud
TITFUR THTUT YRd B BT VAT $R T2 ¢ | TN RS Bt RS aE (CorDECT) Mt 3k
Aepder Reeed o1, o1, &1 Hrge? Ut ugdl & 3 Ieevvl § 1 A WTe Ao Ued!, WTeduR Uq gad Hid
Rien & A1y TR TUT IRRAE SAfdeiadt U fAeRa $vd 81 M &1 ot 8 fF saRreni w1



TR R Iere, Uritor gy & fore Iugad Ud anTa-$=Ia Menfifeat ae- e, 998 fRa MSSRF
arftor FrefHY ¥ Suge Mefre fesms= &3 § sproft od s 3 21

Several entrepreneurs are attempting to offer inexpensive solution
for rural applications:/ P35 SgH! urftur GITJ’Q'!ﬂ"T & fou 9=t HATYTT U¥dd
P BT YT B I8 &

1. Software and ICT/ 91%cdIR T4 ICT

2. Hardware and application/ BTSdaR TG VIR
3. Network and software/ 9e¢dd Ud AteddR

4. Hardware and software/ 5|é3|q< od e dR

Correct Answer :-

 Hardware and software/ 5|é3|q< od e daR

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEd weiz &1 wFyde e 39® i @4 T sgfawed u=-i & w&t
fawe &1 799 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

e e Afd=melt, Sudiear feadl vd wu Tl 8 1 §1pc wifvy 378 SuaiedT & 39 8¢ b v a
It B b aga & Wl A STdaTe 7 3 e & AN fEemg vd fie R 1 foid € IgTaifes, gra €t

T, Tial A 37 SUART B JTH I & forg i farwaasg vd & UIST Sexth ST ST =18t g
2139 fafved, gTaifes STSaaR B @NTd Te 381 €, TR AT o & forg T o) oot @ anft off



FTB! AP B 1 gAqH FU F ATaIS T+dl, 9 PC, WSH, U wRidarger, filer $ anaaurary o
TIFEdTR (0S, STAY, TH AU, 9 4t ar] 8Y) &) argdy anTd fFa-wR-ufaary & AFds & YR |,
WHR A TR AT JaTE U H1 & AT SUAHT BT Iy Rieg 78 7 urelt §1 & Suwor aga wied!
Saferd g 9 @, iR uretor & § 3ot TeRaTd anTd SHfte € | adu anTd Wl W SOt anTa feTe
UM & TR a6 UgaA & T fHaes Jearesd & 57 SUBIVIN BT SUGNT HRd §U B Trd 3ma goi Tfafafirai
@it gitft1 g7 ura @ o aga @ Arre A Gt sraie SHTeT Hiepe e R, o) af Hieg § o &, frae
W T HaTas T3 FEIY faeRid S og URIEd T8 8 | $5 STl UR0T SIyaRT & fore e grédar ud
AITFEAIR JHTUT Y B3 BT T B 78 8 | TN HHRH A Pt RS T (CorDECT) Wenfiat aiv
iopTter Rew ur. {1, &1 $ioger R ugdl & 31w ITeVT & | A TS I=T Yedl, Wtedas Ud gad i
RRen & 1Y YR qUT IR A SAfaefad) Farur faeRia #vd &1 M &1 o1l @ % 37 Rremf w18
TR W IaTe, ITHior Syt & fig Suged Ud anTa-$3ra Wenfifeat aev e, 398 fRa MSSRF
arftor et ¥ Suged menfie fewrga w33 # epmvft wf He T 71

MSSRF based at in doing pioneering work in designing appropriate
technology for the rural poor:/ fRra MssRF arHtur et 39 Sugaa
wrenfira feomss +A & spoft & #2 W& 8

1. Chennai/aﬂ's£

2. Madurai/ﬂ@sxf
3. Coimbatore/aﬁw

4. Punjab/delid

Correct Answer :-

. Chennavaﬂﬁ

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fAgzr: FafifEd e & aFyd® UeH: 39 4 33 T sgfawed! u==i & 98t
fawey &1 999 B

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of



such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

HIeR 3iftew fer=el, Sudtaar fedtt vd wu Tdfa gt 1 §1PC wif 3= SuidaT & sH 8¢ a® qHiu d
It 8 foh aga @ A # SraiErelt 7 3 e b AT fEeig vd fawia o< ol € 1eTeife, sra &
%, TiTdl B ST IUUNT B YITH I & o1 R fqwaasg Td &R U1 $exth a1 3R 81 gai
B1 39 SifaRad, STAifP TSAUR 1 ANTA Ue 81 §, W ATHIVT SV & o warfied &1 o anTa St off
BB SHRIP § | YAqH TU F ATaAS T=dl, 94 PC, WSH, TR RiJager, fiiey &Y ana aur iy &
AR (0S, STAH, Td VAT, o W} A1) 8)) B a1 arTd Fasr-R-ufdary & ards & SMUR |,
WHR A TR T JATE 9 H & AT SUGHT BT I g 78 w7 ureht 81 & Iy aga oot
Srraferd gl e @, iR umftor &= o 37t veRard anTd Siftes € | adu anTd Wl W St anTa feTa
UM & TR 9 UgdA & 1T fHaer Jaras &1 57 IUBIVN BT STINT HRd §U B TId g oi Tfafaferat
@rert g1 | 899 U & 6 9ga & Arvel § R saruriyes SuTan Hieig 781 8, ok af deg @ W i, fraie
Tt  TaTas T FETY fawRia B 3g wRifea T8 § 1 $5 STl unhor gyt & fore I gréaaR ud
AITFEUR THTHT YRd B BT VAT B 1@ & | TIANT SRS Bt RS IE (CorDECT) Wt 3k
Aepider Reed U1, 1. &1 Hroge? RN ugdl & 3red Iee0T ¢ 1 A WIS ST U], WIeduR e Had Hid
Rien & A1y TR TUT TARAH SAfaefadt GaTur e Ra wa 81 S @1 ok 8 i 39 Reni w1
TR IR ST, UTHHUT SR & fiIT IWad U9 anTa-$=Ta MenRieai de ST, 998 T MSSRF
arftor fRref4T 39 Suged mefie fesmga o # snvft ef #e T 71

owners and operators are not trained to develop new solution:/
_ arft ud warae T2 gard faeiia $ aq uiifia T8 €
1. ICT
2. MSSRF

3. Kiosks/ fbae
4. None of the above/ B’q?jilﬁ T ¥ i T8l

Correct Answer :-

« Kiosks/ frures

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEa weiz &1 wFyde e 39@ - @4 T sgfawed u=-i & w&t
fawey &1 799 |

Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of



return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

e e Afda=melt, Sudiear feadl vd wu Tl 8 1 §1pc wifvy 378 Suaiea & 39 8¢ o I a
It B for aga A amme # Iumaarsit A 31 G & SguanT fEgA vd e Ra o Rl € 1emaife, s dt
T, Tial A I7F START B TH I & forg e farwaasg vd & UTST Sexth ST ST =18t g
21 39% Sfalvad, sTaife eT8aur &t anTd ue 3 &, W ITivr guahT & fore warfire &t oa anrd sndt oft
FTB! AP B | gAdH FU | ATaIS Twdl, 9 PC, WSH, U wRidarger, filer Ft araaurary o
TR (0S, STAH, TE uaNT, 9 W @] &) #) arsad anTa Faw-R-ufoary & ards & SMuR |,
WHR A TR T JATE 9 H &b A SUTNT BT e R 781 = urelt 81 & Iuwwor aga oot
Sraferd g 9 @, iR umeftor & § 31t TeRaTd anTd Sifte € | adu anTd Wi W St anTa feTa
UM F TR P UgaA & T fraie Jarae &1 391 SUBIUN HT ST FHRd §U dbieud I Jor- nfafafemi
@rert gitft1 gHA U @ o aga @ e A T sraie SHTET Hiepg e R, o) af Hieg ® o &, o
W 9 HaTe T3 GATYT f3HRid B3 3g URiféa 18 7 1 % STt Univr Srgwai & e wed gredaR v
AITEAR JHTUT Y B3 BT T B 78 8 | TN HRH A Pt RS T (CorDECT) Mt aiv
HiopTter Rew ur. i1, &1 $ioger R ugdl & 3w ITexVT & | A TS I=To Yedl, Wtedas Ud gad Jdid
Ren & Q1Y YR TUT IARAT FAfaefad) T faeRia #vd &1 M &1 51l @ % 37 Rreml w1
TR W Iare, Irftor SguahT & forg Suged vd anTa-$3ra Wenfifeat dw e, 398 fRd MSSRF
arftor fHefAT 89 Suged menfie fewrga w3 # epvft wf #e T 71

The kiosks operation will have to find alternative activities:/ foai®

D! B dHUD wfafafimai @rert gif:
1. Future generation/‘l-lﬁ'&irw

2. Economic generation/ 3 gold

3. Revenue generations/ 31 i+

4. Social generations/ JHIS o

Correct Answer :-

« Revenue generations/ 319 goiq

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 39@ AR 3 T sgfawadt uzei o w8t
fapeu &1 g HI)



Computers have become more powerful, user friendly and less expensive.
The PC revolution has brought them closer to the user to the extent that in
number of cases user have designed and developed their own application.
However ,till recently, it has not become easy to create local content and
regional language interfaces, to facilitate their use in villages.In addition
although the hardware costs are coming down, the total cost of ownership
for rural application is quite hike. The cost of the minimum required gadgets
like PC, modem, powerstabilizer, and printer along with the license cost of
software (OS,data base,and applications as applicable) thus not justify their
use for offering government related information service, just on the bases of
return-on-investment criterion. These equipment’s become absolute too
soon,and have high maintenance costs in the rural areas.at the current cost
levels, to breakeven, the kiosks operator will have to find alternative
revenue generations activities utilizing these equipment’s.we notice that in
many cases such business potential does not exist and even if it existed,
kiosks owners operators are not trained to develop new solution. Several
entrepreneurs attempting to offer inexpensive hardware &software solution
for rural application. The CorDECT technology by analogue communication
and the computer by picopeta symptom Pvt. limited. are good examples of
such initiatives? These organizations develop the computer and wireless
connectivity solution with indigenous components, software and open source
system. It is hoped that large scale production of these system would bring
in appropriate cost effective technologies for rural application MSSRF based
at Chennai is doing pioneering work in design appropriate technologies for
the rural poor./

FIeR ifiw fwT=el, Sudtaar fedtft vd wu Tdfa 8t 1 §1pC wif 3= SudidaT & sH 8¢ a® quiu d
It 8 foh aga @ A # Saaralt A 3 e P AT fEeig vd fawia o< fod € 1eTeife, sra &
%, TiTdl ® ST IUUNT B YITH I & o1 R fawaasg Td &= U1 $exth a1 3R 81 gai
?1 9% Sifafvad, gTaifd FrEauR &t aNTd Ue T8l §, TR ITHior 3y & e warfia 3t ga anra and oft
HIEY HRIP § | YAaH T J ATaAD Tdl, 99 PC, WSH, TR RiJamger, fiiey &Y ana aur iy &
AR (0S, STAH, Td VAN, o Wt A1) &) B a1 anTd Fasr-R-ufdary & arMds & SMUR |,
WHR T GHERId FIAT ATE U H1 & 37 STANT H1 Sitferey Rreg 781 S urehl €1 & SuHR0T 95 wieg!
Sryraferd gl e @, iR umeftor &= § 37} veRard anTd Siftes € | adu anTa Wi W St anTa e
UM & R 9 Uga- & e e Jarae &1 39 IUSN &1 SUANT HRd §U dh TP T Joi- Tfafaferi
Qe gif1 g7 T @ o aga @ e A 3 sraie SHTeT dieg T R, ok aft Hieg § o &, o
W 9 G T FATYT fIeRid B3 3g uRiféa 1 7 1 F% St unir v & e wwd e deR we
AIFEUR THTYT YRd B BT VAT B 1@ ¢ | TIANT SRS Bt RS IE (CorDECT) Wit 3R
Aepider Reed U1, 1. &1 Hroge? RN ugdl & red Iee0T &1 A WIS ST Ued], VIR e Had Hid
Ren & A1y TR TUT TIRAH FAfaefad! GaTYr e g wa 81 3 &1 ok 8 % 39 Reni s1ae
TR TR ST, UTHUT W & fIT S Ud anTa-$=1a Menfieai dw ST, 998 T MSSRF
arftor e 39 Suged menfire fesmga o # snvft ef Fe T 71

Government related information service just on the bases of return on

:/ R UfaaTH & YR R IRER A R GI-T 94T
1. Appropriate criterion/3Ugad HMGS

2. Investment criterion/fd% AFCS

3. Partnership criterion/dT3IGRI AFGS
4. Integrated criterion/JHfed AMCS



Correct Answer :-

« Appropriate criterion/39gdd IS

Topic:- Grad_Child Care and Education

1) Faigtest of sound can be detected at:/ g ST G&H- arelt Iad it eafy ot
GIEGIES

1. 0 decibels/0 SRad

2. 0-10 decibels/0-10 SRed

3. 10-20 decibels/10-20 SRsd
4. 20-30 decibels/20-30 SRsd

Correct Answer :-

« 0 decibels/0 SIRER]

2) Sociocultural cognitive theory was propounded by:/ ArHITS-Tipia®
Ty Ngia srufaured = feam am

1. Vygotsky/ farmecwt
2. Piaget/ g

3. Maslow/ ﬁﬁﬁ

4. Kohlberg/ ®Ieert

Correct Answer :-

. Vygotsky/m

3) HIV can be transmitted through:/ qaan'é-qﬁ ... 4 d godT Bl
1. Sweat/ G

2. Saliva/ dR

3. Urine/ HA
4. Breast milk/ A & [+

Correct Answer :-

« Breast milk/ AT & [+



Which among the following is not the feature of special education for the

disabled?/ 379 A ®H, 3ral og faRw fRrem 3t faxivar =5t 82

1. Instruction and teaching strategies should be individualized/ &Iﬂﬁ'ﬂ?GﬁTB{W

oot dafaaed gt anfey

2. Sequencing the task in such a way that it begins with the tasks a child can perform
and gradually lead to complex learning/ & ! 39 UHR SIHHd BT [P a8 T ST 4
3RY B o8 S o= Tl g1 3R IR Sifea 1 ot 3R Fe

3. Inculcate the spirit of competition among the classmates so that they can prove
themselves to be better than the other children/ TguTfddl & A H Ufaeqef &t H1a-T
SGMT dlfdh d W4 &l 3 o] ¥ dgaR g R A |

4. Those abilities should be developed in the child that will enable them to perform
the everyday tasks of living independently and enable them to become productive/
o o Tt argand fasRad &1 o 91y ST S Sitad & fo--Ufdfer & &1 &I Wad 9 9
T T 3R IdTeH a1 8 g0 §1Y

Correct Answer :-

« Inculcate the spirit of competition among the classmates so that they can prove
themselves to be better than the other children/ TguIfddl & A H Ufaeaef &t H1a-T
S Al W &l 30 gl ¥ dgaR R R o |

5) What percent of reservation is provided to the disabled government
educational institutes / government aided institutions by the Ministry of

Education?/ fR1&m Ao feaai IR} QAfére TR / TR AgTadT Urd ATl &1
fopam ufr=ra SMREvT UeH ST 82

1.3 percent/3§|ﬁ|¥[ﬁ
2.5 percent/SEIﬁIT{IFf
3. 7 percent/7 Ufd=d
4. 10 percent/10 Ufa=Id

Correct Answer :-

« 3 percent/3 Ufa=Id

6) Pre- conventional, Conventional and Post conventional levels were
propounded by:/ Td-URWNR®, TR T4 UY-URTWNRS | ST Ufdure-T gRI
forar T T

1. Freud’s psychosexual theory/ 138 & HAIGRG (FH:H1®) Riaid

2. Piaget’s theory of Cognitive development: fUas & TIMTES faw™ &1 Rigid

3. Kohlberg’s theory of morality/ ®idai & =fdedr o1 Rigid

4. Erikson’s theory of Psychosocial development/ TR&IH & AN [dHTT &1 Rigid



Correct Answer :-

. Kohlberg’s theory of morality/ ®Iast & Afddar &1 Rigid

7) The theory propounded by Bronfenbrenner emphasizes:/ TTBASR GIRT

yforurfea frsid ... R sa gar gl

1. Biological context/ Sfae uftden

2. Cognitive context/ TIMTH® URUET

3. Environmental context/ Gataxuitg uRkged
4. Psychosexual context/ TS afted

Correct Answer :-

« Environmental context/ qﬂh@ﬂﬁqﬁa&q

8) Which among the following is not a form of pre-speech communication?/

39 A P, [d-a1P HaIE BT TP U 781 22
1. Crying/ﬁtﬂ

2. Cooing and Babbling/ @ (& &) 3R UaTd H=AT

3. Gestures/ g1a-H1d/HRHTE
4. Sentence formation/ g fmfor

Correct Answer :-

« Sentence formation/ g fmfor

9) A person who is ignorant about what the social group expects rather than
intentionally violating the group standards is said to be:/ HEW%WWHT%
S ATATRIS THE &b HIFD] BT ATTGIB Sed- A8l B 38T ¢ dfewp 34 dg I el 2 fb
TE T SUST HT 82

1. Moral/ EINGE

2. Immoral/ 3R (gwiRa)

3. Unmoral/ FHfae (MHRa)

4. None of these / 378 ¥ ®Is gl

Correct Answer :-

. Unmoral/%(m



Visual acuity can be measured by:/ ¥ dt&urdr &1 A1y ... gRT fopar &1 Goar 81
1. Hoover cane/ gax dd (&)

2. Prosthetic device/ HAHNT T

3. Orthotic device/ 3iTifee (37T BT TERT S aTel) T

4. Snellen chart/ Ao aT1¢

Correct Answer :-

« Snellen chart/ @a9 ¢

11) Which type of child rearing practice is ideal for fostering creativity
among children?/ I # IATRNEAT & deTaT ¢4 & fT f5g USR &1 919 ure= samy
et 32

1. Democratic/ @G dl~ad
2. Overprotective/ 3ffaReft
3. Permissive /Tﬁf:ﬂ?ﬁ

4. Uninvolved/ 31&d¥d

Correct Answer :-

« Democratic/ A& diad

12) Which among the foIIowmg is not the purpose of developmental tasks?/

T4 A P, fpTaTH® Sral &1 yate gl 82

1. They act as guidelines to help parents and teachers to know what children should

learn at a given age./éﬂﬁ-ﬁﬁ@?&ﬂﬂﬁﬁaﬁq@wlﬂ T e ﬁ%%w&ﬂg
o=y & 5= &1 &1 Iie =gl

2. Developmental tasks serve as motivating forces for children to learn what the

social group expects them to learn at that age./ A& ITE® H1f 9= o1 9 Tl TG &
fore IR 9l & U § B B g o AT THE S7Y 39 1Y H YR o1 3087 [adT g |

3. Developmental tasks tell parents and teachers what will be expected of children in
the immediate and remote future./ fd® TS HTd ATA-fUAr Td 3reaueh! &) 9drd & [

fAdc td Yo Hiaw & =i I &1 3ugn gt
4. Developmental task increases the intelligence of children./ fd®TITd® &4 F= &1

gfer & g wa B

Correct Answer :-

. Developmental task increases the intelligence of children./ fd&TaTE® B 9= ot

gfer & 98 #zd B



13) Children are able to reason on the basis of hypotheses and propositions
in which stage of cognitive development?/ JJTHIH® [IHTH & foryg sl A a2
RT3l 3R ufegferal & R W ad &1 § gud 81 & 2

1. Sensorimotor/ TdaGRTATHD (FAHICR)
2. Pre-operational/ Ja-fmardd®

3. Concrete operational/ 319 dfgsardTe

4. Formal operational/3iiu=ite Tfsarais

Correct Answer :-

. Formal operational/3u=ne dfpares

14) Which among the following is a type of Learning Disability?/gﬂﬁﬁﬂ'ﬁ?@
SIfATH 3ITeRTAT T UPR B2

1. Monoplegia/ THRTITT (HHIGIToTT)
2. Dyslexia/ U 3oy (feaafaaan
3. Spasticity/ 3ifddHdT (TReRTE
4. Epilepsy/ &W(ﬁﬂﬁ)

Correct Answer :-

. Dyslexia/ U3 doed (FSgafdyan)

15) Monitoring of the ICDS scheme is the responsibility of which among the

%ollowing Ministry?/ 3TSA1SITH AT &1 FFRRTL &1 SORefia 599 A f5d u=<ray &1

1. Ministry of Child Development/ #THd Iu1eH fasmrg dare
2. Ministry of Health and Family Welfare/ %14 Td URAR & edr0 HATe™
3. Ministry of Social Justice and Empowerment/ ITHIN® =10 T4 fB1RGr Harag

4. Ministry of Women and Child Development/ Hfgdl Td aTd fasra e

Correct Answer :-

« Ministry of Women and Child Development/ Afgdl Td aTd fadb 1 #are™

16) CHETNA stands for:/ da+T (FTTAZEITAT) HT [T A9 3

1. Centre for Health, Education, Training and Nutrition Awareness/ X B, QW:[
<71 U8 IEIRM SfaTR-g (TR, e, UfRierur ud oy Sreedl $%)




2. Central Health, Entertainment, Training and National Awareness/ ¥cd g, UelcHC,
S+ U8 AR SHATRAY (Heid WA, HARGIH, UiRIEU1 Td AP SIehn)

3. Central Holistic Education for Training and Natures Awareness/ WWW
BIR T Td o SfaTR-Y (U101 Ud Ui STl & ford i Iad frem)

4, Centre for Human Education, Teaching and Nutrition Awareness/ @?WW
T Y, T U8 YEIRM 3fauR-9 (HHd R1gM1, 370+ Td UiVl SRS dl )

Correct Answer :-

« Centre for Health, Education, Training and Nutrition Awareness/ ¥cx ThRgw, THTH,
<7 T8 IR 3faTR-Y (TR, fRiaf, UfRieor td Uiy el &g)

17) The Indira Gandhi National Disability Pension Scheme (IGNDP) is

%rovided by:/ $fe=T Wit I fyairer U2 AT (SMSSHTAST) .. GRT YeH 3 St
|

1. Ministry of Social Justice and Empowerment/ JTHTfSIS =g Ud SffAHTIRAT Hare™

2. Ministry of Rural Development/ IrHi0T faewr Hare™

3. Ministry of Personnel, Public Grievances and Pension/ aﬂ%, WWQH’W
HATMT

4. Department of Disability Affairs/ fqaaire & favm

Correct Answer :-

« Ministry of Rural Development/ JTHIUl [d&T HAGT

18) The red ribbon is a symbol for:/ AT WIdT ... Wu?ﬂ??%l

1. Being cautious for catching a HIV infection/ TI3MTsd! YU 1 IUe H 34 & Ul Iraer
®

2. Identifying HIV positive people and those suffering with AIDS/ Tg3Msd! utferfed @
3R Ty Yifsd arl & uga™ &

3. Solidarity with HIV positive people and those living with AIDS/ TgeRdt uifsifea amm
3R Ty Yifsd anl & 1Y Thgedr

4. Danger of combatting HIV infection/ @HT"&CEF[WUT@[ (718.31 » TR

Correct Answer :-

« Solidarity with HIV positive people and those living with AIDS/ TgeRdt uifsifea amm
3R Ty Yifsd anl & 1Y Thgedr

19) The first stage of learning in which the individual learns what is required
in the task and certain specific components of the task is known as:/ 3rfermH



P 98 Ul AT TT Hgdld! ¢ oT9H Safad g8 STl & 1 § T ATIWP § 3R B &
7o AR aes 7T 82

1. Cognitive stage/ IMIHD AR
2. Association stage/ ?I'IB?EY(QE'I ATIM) AR
3. Automation stage/ WA AR

4. Realistic stage/ gUTSaTe ST

Correct Answer :-

« Cognitive stage/ IMTE® AR

20) The Right to Free and Compulsory Education Act, 2009 makes education
a fundamental right of every child in the range of:/ ﬁ:*{[ﬁﬁ@ﬂﬁﬂﬁﬁr&ﬂﬁ
f¥repR srfuferam, 2000 fRrem &Y ... F} Mg aTe TAS T BT TH NS IfUdR 191 81

1. 2-18 years/2-18?ﬂf
2. 3-15 years/3-15 a4
3. 6-14 years/6-14 a8

4. 4-18 years/4-18 Ty

Correct Answer :-

« 6-14 years/6-14 G

21) Formal technique of organizing material to increase the likelihood of its
being remembered is called as:/ WWﬁﬁ@WﬁWW%WW
P YTfSa/oaafeud $31 B uarved aH-1e &I ... Hal oaT gl

1. Memorizing/ dlg Al
2. Concept formation/ HAYURUI fmfor
3. Interference/ 3{dR&T (FIWIY)

4. Practice/ WY

Correct Answer :-

« Memorizing/ gl Al

22) Which among the following type of learning involves higher mental
processes taking into account gasping of meaning or significance of a given

phenomenon?/ 38 A A YeR & SR & IR ATRIS Ufeharg zmfire & o fasht
gfvae faRiw & orf a1 Ardear w faar #=dt 82

1. Trial and Error/ Wa@-Ff¢



2. Cognitive learning/ SIMTE® A (@iTHfed @f+m)
3. Classical conditioning/ RRUTAIUTIG e (TR HoIRI-T)
4. Operant conditioning/ foFaTIIAUM @ (3HTRE HaIf-T)

Correct Answer :-

« Cognitive learning/ IIMIE® SHUTH (HITATCa Al

23) Which among the following objective holds incorrect for pre-school

education?/ Yd-faemeral fRien & Way # 390 | $I9-97 354 TAd 82
1. To develop rote memory in children/ Sl & ETAR Hd &1 fabTd BT
2. To develop aesthetic appreciation in children ) S § Iicd TR181 &1 [Aer B3

3. To develop in the child a good physique, adequate muscular coordination and basic

motor skills/ ¥ & 3{w1 JRIR-TT3-, A-URE # vaf araad ok STURYd TATE® HIRd
ARSI

4. To develop emotional maturity by guiding the child to express, understand, accept
and control his feelings and emotions/ T DI S{lefm 3R YTIATT o W, ﬂﬂ%ﬁ
WeRA 3R fafa #3a o Aanfe qer Uarretes uikuedr fasfia s

Correct Answer :-

« To develop rote memory in children/ s & YSTAR Wid BT fdHTH HIAT

24) The concept that objects continue to exist even though they cannot be
seen or heard is termed as:/ ¢ faer= a1 T5dft €, a9 Wt 9 = S AT AT A
THdT g1, 9 AAURUN B FIT HEd 82

1. Accomodation/ THEISH
2. Object permanence/ a¥%] RIRIQ

3. Assimilation/ TERITA®U/RT BT (TRATHTRH)

4. Mental equilibrium/ AFRT® JTRTTRT

Correct Answer :-

. Object permanence/ 3% ®IU@

25) Which among the following statements is false with regard to people

with hearing impairment?/ %aul &ordar arel @M & Hdy A 390 A PH-9T HYF TAd 82

1. It is believed that some amount of residual hearing is present in all people with
hearing impairment/ I8 AT SITdT | & yaur effordr ara g2t aafaaal & 91t amn & saxs
U7 &A1 JUTRIT BNl &



2. Hearing impairment automatically leads to inability to speak/ 4dur &urar wad: HEINE
H AT BT HRUT & ST 8

3. Early detection of hearing loss and training is essential to help the child make use
of whatever hearing he has to help him develop communication skills/ & H fora= +f
QU &I § SUDBT SUUNT B HAIG BRI B d B § Hag I & o8 T8 IS g &
0T & o BT T SRY T BT T T o 37 wfRieror feam sy

4. Hearing impairment has a wide range of gradation- from profound to a partial

hearing loss/ %dU1 &ftural &1 ge AT § - TR T AR 3111w 4qur &dT 819 d&

Correct Answer :-

« Hearing impairment automatically leads to inability to speak/ %aul &ffurdr Wd: g dieq
A AT BT HRUT & ST 3

26) If you stroke a baby on the sole of her feet, she first spreads her toes
and curls them, the baby is exhibiting which of the following reflex:/ gfe emy

e R & W F 19 & 70 W die oI 1 78 Uga v W A eiyferat baran ¢ ok e 3%
HYs a1 21 Ry 3# @ Sr-ar ufead gf @1 22

1. Rooting/ Hall@h (i)
2. Moro/ HRI

3. Babinski/ CIERSH

4. Grasp/ Urg!

Correct Answer :-

« Babinski/ STfa~p!

27) On an average a neonate’s height is between:/ Wﬁﬁf{[ﬁm&ﬁw

gt g1

1. 6-10 inches/6-10 39
2.11-16 inches/11-16 59
3.17-21 inches/17-21 §d

4.22-28 inches/22-28 34

Correct Answer :-

« 17-21 inches/17-21 54

28) Sensorineural hearing impairment involves problems confined to the:/

Tae-dfera yqur efivrar A wnfira gawne ... # Hfea gt 21
1. Outer ear/a@w



2. Middle ear/ A& &0l
3. Inner ear/ 3{dRk® &0l
4. None of these/ E’Hﬁ@fﬁ%ﬂ"{ﬁ

Correct Answer :-

. Inner ear/ 3iidRe& HUf

29) Which among the following are models of mainstreaming?/ sﬂﬁﬁaﬁ?

TWIYRT # A @ & fcret 82

1. Advance and No reject/ 3{U¥RUI Td YT 3RATHRUT

2. Fail-save and Zero reject/ GI¥-YR&f Td Y 3RATHUI

3. Admission to all and Failure to None/ ¥4I &1 Ua=1 Ud fqtherar forelt &1 -1g

4. Save and Protect/ ST T &1 BT

Correct Answer :-

« Fail-save and Zero reject/ GIN-JR& Td T SRAHRUT

30) Which among the following relates to the set of laws, policies,
regulations and services needed across all social sectors- especially social
welfare, education, health, security and justice?/ mﬁwﬁweﬁa‘r‘ -fRy =3
TS HedTol, R, Warea, JREMT Td <1 - § AaRgd BT, e, fafraat vd darsi &
TYE A 379 § P19 G fRId 82

1. Child Protection System/ & &T d«
2. Child Support System/ STd TgarT a-d

3. Child Support and Strengthening System/ STd 4gaiT U9 IRIfGdHR0dA
4. None of the above/ sﬂﬁﬁaﬁéqﬁ

Correct Answer :-
« Child Protection System/ §Td R&T d«

31) Repetitious speech accompanied by spasms of the muscles of the throat
and diaphragm is termed as:/ Gg<Tagad aTvil TG GTY H Td TUT STATIHTH $Ht ATH-
IRt Bt Yo Bt Fe1 oAt 3

1. Lisping/ ddd-T
2. Slurring/ fd=saA (3f&R @il &1 3o | e S

3. Stuttering/ gh I



4. Cluttering/ f&i=aRUN (Sad THT 31eR I g

Correct Answer :-

« Stuttering/ g Al

32) Functions specific to the individual, such as swimming, ball throwing or
riding bicycles for which training is required are known as:/ wﬁrﬁ&ywﬁ,
SR AR, g BepHT a1 Trgfed gerr, e fag ufieror 3t smazaear gl 3, ... Feard 8

1. Ontogenetic function/ ouIrOTd-quld-lcb&«Ichlqr

2. Phylogenetic function/ STfd-gaTd®@YH™

3. Onward genetic functions/ 3 G-IHHWW
4. Organoleptic functions/ &g gl UHri

Correct Answer :-

« Ontogenetic function/ ouerTd-quld-lohuqoltf

33) Which among the following term is used for the tendency to ascribe life
like qualities to inanimate objects?/ Eﬁﬁmwﬁﬁﬁhaﬁéﬁﬁiﬁﬁ-w
o7 ! HafRa F @) wgft & fore v foman wirar @2

1. Egocentrism/ 3@ iaamdl/ad admdl (ST CgH)

2. Daydreaming/ faareay
3. Animism/ Sitadrg (THEeH)
4. Socialization/ THTSIIHROT

Correct Answer :-

« Animism/ Siigarg (@HfHeH)

34) Which among the following is the component of ICDS Scheme?/ ERL K]
DI MEHTSITH TSI HT TH °9eF 82

1. Supplementary Nutrition/ g3 TS0l

2. Health check-up/ WY S

3. Nutrition and Health education/ UTYUT Ud Ty e
4. All of the above / ITdad Tt

Correct Answer :-

« All of the above / GCRjT:HHlﬁ



35) Which among the following refers to the absence of a particular part of
the body or organ, or a reduction in function of some part of the body?/ 3‘—n?r

¥ foraer ord IRR & fapelt T fa=iy ar 31 ot srqufRufa, sryar IR & ot yrm +t
Prdemar # H | 82

1. Impairment/ &ftorar

2. Disability/ RIeddl

3. Handicap/ fa& i

4. None of these/ T8 I ®Is 15!

Correct Answer :-

« Disability/ 3HR[&ddl

36) Which among the following involves an educational placement procedure
and process for exceptional children based on the conviction that a child
with special needs should be educated in the least restrictive environment?/

30 3 frad 331 Te-fayrT i, faiy smazawarsii are =i & <Aaw ufadurars afar o
ﬁwﬁaﬂaﬁq,%mmwmaﬁ%mwmwmwm

1. Mainstreaming/ &7 YRTH A (ﬁﬂ@iﬁm
2. LabeIIing/@la?Fr

3. Rehabilitation / gﬁaﬁ
4. Vocational education / SATTHTIS fR1&f

Correct Answer :-

« Mainstreaming/ &7 YRTH A (ﬁﬂ@jﬁm

37) Which among the following holds true for learning?/ 3iftRTq (?I‘F—flT) ¥ foe
38 A B 91 T 82

1. Learning is a continuous process/ SHfRTH Uk Tad Ufhar §
2. Learning is a gradual process/ &WWWW%

3. Improvement in performance results with practice and experience/ ¥ G?ITGQHH

¥ Yo aRumg SeaR 8 §
4. All of the above/ Iudad Jaft

Correct Answer :-

« All of the above/ Iudad g+t



38) Twenty two pairs of chromosomes are called/ ORI & 9159 SISl ®I ... Had
gl

1. Autosomes/ &rﬁ*le:aI

2. Zygotes/ gIHAS

3. DNA/ SITT

4. None of the above/ $T5 ¥ &5 7ol

Correct Answer :-

« Autosomes/ fCTRA

39) Automatic physical movements of a new born in response to a particular
event or stimulus is termed as:/ f&ft ge=1 a1 IEHuA fay 5t srgferar & Faema g
# g1 aral e Y w3t ... Sl wrdT Bl

1. Reflexes/Ufaad/vfaadf feramg
2. Retention/ fdemor
3. Retardation/ Hgd

4. Recovery/ T: UG

Correct Answer :-

. Reflexes/Ufaad/ufaadf foramg

40) Phallic stage of Psychosexual theory of Freud corresponds to which
stage of Erikson’s Psychosocial development theory?/ W%ﬂﬁm

@S P) Fagia ot R s, thaa & g faera Rigia & foa sarn &
T 82

1. Trust versus mistrust/ fayT¥ S 3ifayr™g
2. Autonomy versus shame and doubt/ TETIIAT §9T9 X T4 Heg
3. Initiative versus guilt/ Ugd d4TH STRTYSY

4. Industry versus inferiority/ GR&H S99 gl

Correct Answer :-
 Initiative versus guilt/ Ugd d4TH GTCRT?-@H

41) Which among the following are the beneficiaries of the supplementary
nutrition program under the Integrated Child Development Services?/ qAfea

a7a fyeTa Qarel & siavlid R v Hrfepd & arurdf 379 @ S 32
1. Children below 6 years/6 a8 ¥ &H 3{1g a1t &=l



2. Pregnant and Lactating mothers/ THdcd Td T-u9 &1 e8! e
3. Both of the above/ JWRIad GHI

4. Women between 15-45 years/15-45 Iy &1 gt

Correct Answer :-

e Both of the above/ RUCIESRAG]

42) Which team comprises of Anganwadi workers, Anganwadi helpers,
Supervisors, Child Development Project officer and District Program

Officers? MHATS! FRIBIEAY, ANTHATS! AETUHI, Tdderen!, arel faer ufvaeEr sftert
wd forem srdwH sfteriyal &Y firares f5a gd &1 T+ giar 82

1. WHO team/ Ssguas{l g

2. UNICEF team/ g9 ad

3. ICDS team/ 3MSYISITH &d

4. NIPPCD team/ THSMRUIURIS! ga

Correct Answer :-

. ICDS team/ AT <

43) Which among the following holds true for emphasizing the need of pre-

school education?/ Td-faemedt fRiem &t smazadd R ga 31 & fu s A s I 32

1. Promotes biological, physical, physical, emotional, social and intellectual growth of

children/ =i & Sifd®, IR, HTa-THS, IS 3R Sifad faeTg & 9grar <t &

2. Takes care and provides custodial and other care for children in the absence of

parents/ HTAI-fIdT & Ul T GUTA Bl 8 Ud TRefl Td 3= RGUTA U Hrat §

3. Reduces the number drop out from primary schools by providing fulfilment of

potential abilities of children/ ! B GHTAT ATl &1 U1 UaH ®Rdb Wyl fqemai
o S H &) BTS2 aral el &t Yo gerd 71

4. All of the above/ B“CI@TH gt

Correct Answer :-

« All of the above/?q?iaﬁﬂﬂ-ﬁ

44) Which among the following technique is used for studying social
relationships in informal groups?/ 3AU=NR® TYE! # QTG Jaei & sreaa— &
fore 39 @ fore ao-ite &1 Iuai fpar srar 82

1. Socialization/ 9THTSIGRUT



2. Sociometry/ FHSIHfT
3. Anecdotes/ gxiid
4. None of the above/ aﬁﬁaﬂéqﬁ’r

Correct Answer :-

« Sociometry/ JHTSIAT

45) Which among the following facilities are provided to the disabled by the

Central Government of India?/ mﬁ%wmﬁmﬁmﬁﬁﬁﬁﬁﬁmﬁ
IRTg yor &t Wt @2

1. Persons with disabilities are eligible for income tax deduction under Section 80U/

fEToT YRT 809 & 3l STTH Herdt b U &

2. Persons with disabilities are exempted from payment of professional tax/ feaiTeHI

B! R B (NHIFA ) & YTaH I e &

3. Legal guardians of dependent persons with disabilities are eligible for income tax
deduction under Section 80DD/ 3Tf¥d fETTTSHI & BT AR D /HHUTID YRT 808! b
ST SHTIHR Heldl & U §

4. All of the above / Iudad T

Correct Answer :-

« All of the above / G'C@Tﬁﬂlﬂ



